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Appendix A

A1: Digichaint Development
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A2: Failte go TCD

Transcript of Scene in Front Square

Cailin: Bhi mé ag smaoineamh ar dhul go Meircea an samhradh seo chun obair a
fhail, ach anois ni ga dom. Fuair mé post inné —

Fear 1: O...

Cailin: treorai le comhlacht turasoireachta — ta mé ar bis mar gheall air mar ta airgead
maith le déanamh air agus beidh mé ag dul timpeall na tire chun na haiteanna suimiila
ar fad a fheiceail — go Tir Chonaill, Corcaigh, Cill Airne, Port Lairge agus cé bhfios cé
na haiteanna eile. Td mé ag dréim go mor le bheith ag dul trasna na tire

Fear 1: Muise, fair play dhuit

Cailin: Agus — rud eile — caithfidh mé tosti Dé Sathairn seo chugainn — ta gripa de
120 Seapénach ag teacht agus fagadh fimsa ¢é Baile Atha Cliath a thaispeaint doibh.
Tugadh cead dom beirt a thosti chun cabhri liom D¢ Sathairn — td an gripa romhor
do threorai amhdin — an mbeadh aon spéis agaibhse sa phost? focann siad 100euro don
la.

Fear 1: Cinnte, bheadh spéis agamsa ina leithéid — an t-aon fhadhb ata agam na go
bhfuilim le bheith ag imirt cluiche go meanlae Dé Sathairn. An gceapann ti go
mbeadh obair réasinta leantinach ar fail leis an gcomhlacht seo? D4 mbeadh, ni
bhacfainn leis an gcluiche. Caithfidh mé teacht ar airgead an samhradh seo — ni bheidh
mé abalta teacht ar ais go dti an colaiste seo an bhliain seo chugainn muna mbionn
airgead agam.

Cailin: Bhuel, ni féidir liom aon ghealluint a thabhairt, ach deir siad go bhfuil go leor
leor cuairteoiri le bheith ag teacht go dti an tir seo i mbliana — ta go leor daoine le
bheith ag teacht 6 Mhor-Roinn na hEorpa — beidh ga le treoraithe le teangacha
dagsula.

Fear 2: Bheadh an-spéis agamsa ann. Ta Fraincis liofa agam agus ta Spainnis réasunta
maith agam chomh maith. Is 6n Fhrainc mo mhathair agus Fraincis a labhair si linn sa
bhaile nuair a bhiomar 6g. Bheadh an-spéis agam teangacha éagsila a usaid agus is
beag rud nach bhfuil ar eolas agam faoin tir seo. Ceapaim go mbeinn an-oiriunach don
chinedl seo oibre. T4 sé thar a bheith tdbhachtach go bhfaigheadh cuairteoiri ar an tir
seo léargas maith uirthi — ta iomha na tire ag brath ar a leithéid seo.

Aural Comprehension Test Questions:

1. Cén fath nach bhfuil cainteoir 1 ag dul go Meirced? / Why is speaker 1 not going to
America?

2. Cén la a bheidh si ag tosa ina post nua? / What day will she start her new job?

3. Cén plean a bhi ag an dara cainteoir don Satharn? / What plan had speaker 2 for
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Saturday?

4. Cén fath a bhfuil spéis ag cainteoir 2 sa phost? / Why is Speaker 2 interested in the
job?

5. Cén teanga a labhair cainteoir 3 sa bhaile lena mhathair nuair a bhi s¢ 6g? / What
language did speaker 3 speak to his mother when he was young?

Translation of Transcription:

Girl: I was thinking of getting work in America this summer, but now I don’t need to.
I got a job yesterday —

Guy 1: Oh...

Girl: a tour guide with a tour company — I’'m delighted with it because you can make
good money at it and I’ll be going around the country visiting lots of interesting places
— Donegal, Cork, Killarney, Waterford, and who knows what other places. I’m really
looking forward to travelling around the country

Guy 1: Well, fair play to you

Cailin: And — another thing — I have to start next Saturday — there’s a group of 120
Japanese coming and it’s up to me to show them around Dublin. I’m allowed to

employ two more people to help me on Saturday — the group is too big for one tour
guide — would either of you be interested in the job? They pay 100euro for the day.

Guy 1: Sure, I'd be interested — the only problem I have is that I’m supposed to be
playing a match that goes on until midday Saturday. Do you think there’d be
reasonably regular work available with this company? If there were, I wouldn’t bother
with the match. 1 have to make some money this summer — I won’t be able to come
back to this college next year if I don’t have money.

Cailin: Well, I can’t make any promises, but they do tell me that they’re expecting a
lot of visitors to this country this year — there are a lot of people expected from
mainland Europe — they’ll need tourguides with various different languages.

Guy 2: [ would be very interested in it. I speak fluent French and I have reasonably
good Spanish too. My mother’s French and she spoke French to us when we were
young. | would love to use the various languages | have and there is little I don’t know
about this country. I think I’d be very suitable for this type of work. It’s crucial that
visitors to the country get a good impression of it — the country’s image is depending
on this kind of thing.
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A3: Taidhgin

A sample conversation between a student and Taidhgin is included here showing
one possible path through the Taidhgin system. The student (middle column)
begins the conversation and Taidhgin’s responses are in the 34 column.

General Topics

Greeting

Sample Student Input

Taidhgin’s
Responses

Dia Dhuit

Hello

Dia is Muire
dhuit, cén
chaoi a bhfuil
ta?

Hello, how are
you?

Go maith, go

raibh maith agat

Great, thanks

T4 sé sin go
maith! Cén t-
ainm ata ort?

That’s good!
What’s your
name?

[AINM] is ainm
dom

[NAME] is my name

Deas bualadh
leat, a [AINM]!
Cén aois thu?

Nice to meet
you [NAME]!
What age are
you?
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17 bliain d’aois

O seacht

mbliana déag
if1-3 d’aois. An
if4—12 bhfuil ta fos ar
if 13 -15 scoil?

*if16—18

if 19 -30

if 31 - 100

17 years old

ifl-3

if4—-12 Oh seventeen

if 13-15 years old. Are

*if16—18 = | you still in

if 19 -30 school?

if 31 — 100
Nach méanar

T4im fés ar scoil duit! Agus cé
mhéad
dearthair agus
deirfiur ata
agat?

I’'m still at school Isn’t it well for
you! Any how
many brothers
and sisters do
you have?

Ta 2 deirfiar
agam

if paiste aonair : s

if [1) dearthdir Gel delrﬁur!.

it 1 deirfidr Agus an bhfuil
na

if 1 dearthair & 1 deirfiar
if >1 dearthair
* if >1 deirfiar
if >1 dearthair
& >1 deirfiar
etc.

| have 2 sisters

p e

deirfiuracha
seo nios odige
no nios sine na
tusa?
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if only child Two sisters!
if 1 brother And are these
if 1 sister _ sisters younger
!flbrother& 1 sister d¢ aliler than
if >1 brother 5
* if >1 sister p = il
if >1 brother &
>1 sister
etc.
Nach deas é
Ta siad nios 6ige sin! Agus, ca
na mé bhful td i do
choénai?
They’re younger than Isn’t that nice!
me And, where
are you living?
i mBaile Atha
e Criupes) Cliath
Place of Residence Cén chuid de
Bhaile Atha
* if Baile Atha s | Cliath? Tdimse
Cliath i gColdiste na
if Contae X Triondide!
if X
etc.
if Dublin =) | What part of
if County X Dublin? I'm in
ifX Trinity College!
etc.
Is deas an
i nDroim Conrach ceantar é sin
ceart go leor!
Céard a
bhionn agat
mar
chaitheamh
aimsire ann?
Drumcondra That’s a nice
area alright!
What hobbies
have you
there?
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- Hobbies '

Imrim peil

if imirt = Cén club lena
if seinnt bhfuil ta?
if léamh
if éisteacht
if téigh
if gan caitheamh aimsire
if X
etc.
| play football
What ciub are
If play (sport) you with?
If play (music)
If read
If listen
If go
If without hobby
If X
etc.
Ta sé sin
B suimiuil! An
gelub ititil - Na :2:‘:"53::::‘5
Fianna i
rud is fearr
liomsa na
taisteal! An
maith leat féin
taisteal?
I play with the local club | That’s
—Na Fianna interesting! Do
you know
something, |
prefer nothing
more than
travelling! Do
you like
travelling?
Inis dom faoi
Is bred liom na laethanta
taisteal saoire ab
fhearr a bhi
agat riamh...
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I love travelling

Tell me about

the best
holidays
you’ve ever
had...
i B! Chuamar go dti
Travel /Holidays an Spdinn
anuraidh
An
ndeachaigh?
if chaith Bionn sé go
if chuaigh ™) | deasimeacht
if d’eitil mar sin anois
if d’fhan is aris. An
if d’imigh mbeadh fonn
if X ort dul ar ais?
etc.

year

Did you (go)?
It’s nice to go
away like that

if spent every now and
if went oy then. Would
if flew you like to go
if stayed back there?
if departed
ifX
Ni bhfuaireas
féin laethanta
saoire riamh i
mo shaol! An
bhfuil a fhios
Ba bhrea liom agat, caithfidh
cuairt a thabhairt mise bailit
ar an Spainn aris liom! T4 mol
mor oibre le

| would love to visit
Spain again

déanamh fds
agam!

I never got a
holiday ever in
my life! Do you
know
something, |
have to head
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off! I've a pile
of work still to
do!

Ceart go leor - go Bhi sé an deas
n-éiri leat mar sin labhairt leat, a

[AINM].

Ok — good luck so It was very
nice to talk to
you [NAME].

Slan, a [AINM],
Slan go f6ill ba dheas
bualadh leat!

Bye for now Bye [NAME], it
was nice to
meet you!

Taidhgin can also answer questions from pupils on any of the above topics - e.g.:

Learner: Taidhgin:

Is mise Taidhgin
C6 thisea? —an chéad
réobat le Gaeilge.
Ta suil agam go
mbeidh glunta
eile robait le
Gaeilge ag
teachti mo
dhiaidh! ...An
bhfuil aon cheist
eile agat?

Human Asks

Who are you? I’m Taidhgin — the
first robot that
speaks Irish. |
hope there will be
generations of
Irish-speaking
robots coming
after me! ...Do
you have any
other question?
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Appendix B

B1: Teacher Pre-Test Questionnaire
(Screenshot)

Ceistneoir ab ai r. ]e

Céim1las5

A mhdinteoir,

Téimid an-bhuioch diot as pdirt a ghlacadh sa taighde seo. Tdimid ag dirii anseo ar ghuthanna sintéiseacha (cruthaithe
mar chuid den tionscadal ABAIR.IE) agus a n-Usdid i gcluichi idirghnfomhacha atd curtha in oiritiint go speisialta do
mhiineadh/d'fhoghlaim na Gaeilge.

Td ceithre chéim sa mhéid a leanas:
(1) lion isteach réamh-cheistneoir chun eolas gineardita a thabhairt ddinn fdt féin:

(2) féach ar fhisedn a thaispednann 3 néiméad den cluiche duit (dalta d imirt);
(3) ar an leathanach céanna leis an bhfisedn td 20 ceist le freagairt

mmﬂ%mqumnwamm
‘& cé chomh héasca is atd sé iad a thusicint)

(4) lion isteach ceistneoir eile chun do chuid tuairimi faoi na guthanna a thabhairt ddinn.
Beidh do chuid tuairimf an-tdbhachtach ddinn agus sinn ag pleandil bogearral nua d'fhoghlaimeoiri Gaeilge.

Clicedil thies chun tuilleadh eolais a fhdil ar:

| + 6uthanna Sintéiseacha |

IonmchonCl\dsfmi-J

Ba cheart go dtégfadh sé tuairim is 20 néiméad an ceistneoir seo a lionadh isteach. Md bhionn aon cheist agaibh faoi
aon ghné den obair seo ni gd ach rphost a sheoladh chuig nichiarn@®tcd.ie.

60 raibh mile maith agaibhl
Neasa Ni Chiardin
Taighdeoir,

An tSaotharlann Urlabhra & Foghraiochta,
Coldiste na Triondide.

Ainm Usaideora:

Seoladh Riomhphoist:

Inscne: Fireann - Baineann

Aocisghripa: = 10-20 20-30 30-40 = 40-50 = 50-60 60+
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Ceistneoir
Céim2as5

Ar tégadh sa Ghaeltacht tu? . Tégadh . Nior tégadh

- Ma tégadh, cé acu ceann?

- Munar tégadh, cén contae inar tégadh taG?

Cén chantint is mé a bhfuil t& ar do chompord [€éi?

Ar Aghaidh)

Ceistneoir
Céim3as5

Rann6g 3: GUTHANNA SINTEISEACHA

Bionn guthanna sintéiseacha le féil go forleathan na laethanta seo
- cloiseann tu iad in ardaitheoiri, in aerfoirt, in éstain agus Uséidtear iad chun na teileaféin a fhreagairt i gcomhlachtal méra agus |
mbainc, mar shampla.

Cad é do thuairim féin faoi ghuth sintéiseach?

Is cuma liom | Braithim go Bionn guth

(;:r:)g'moel:zr iguth daonna né mbionn an guth| sintéiseach ni-
Is fuath liom é liom guth guth sintéiseach | os oirilinai na
Haaria sintéiseach fad  oiriinach guth daonna
is go dtuigimé  uaireanta uaireanta
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B2: Teacher Test

Teachers first viewed a 3-minute video of how Digichaint operates. They were then presented with 20
soundfiles in random order and asked to orthographically transcribe each and simultaneously rate the

ease with which they could do so. Only 2 of the 20 are included in this screenshot.

Ceistneoir
Céim4as5s

e A Wy 4 B5 e w na
LA G e s O eue) Uk

Sampla den chaint 6n geluiche.
An priomhcharactar (an daita) ag labhairt leis an ngamalodéir, le Tom Ban agus Je cupla cuairtecir eile até ag fanacht san 6stan.

Ceist 1

(1) Déan trascriobh ar an méid a chuala i

(2) Cad a déarfa faoin abairt seo? Bhi si
An-deacair le tuiscint . Deacair le tuiscint -~ Réasinta soiléir le tuiscint -~ Easca le tuiscint - An-éasca le tuiscint

: Ceist 2

(1) Déan trascriobh ar an méid a chuala t:

(2) Cad a déarfa faoin abairt seo? Bhisi...

An-deacair le tuiscint - Deacalir le tuiscint  Réasiinta soiléir le tulscint - Easca le tuiscint - An-éasca le tuiscint
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B3: Sentences used in Teacher Evaluation

Connaught Voice
S categories: 2 examples of each

Category 1: Reduction
1. Ta mé togha, go raibh maith agat
2. Ta, bhfuil fhios ad ca bhfuil Tom Ban?

Category 2: Long Vowels (4+ long vowel sounds)
3. Céard ta th a ra?
4. Cén gro ata agatsa le déanamh liomsa?

Category 3: Short Vowels (4+ short vowel sounds)
5. Bhi sé ard, caol le gruaig dhubh agus culaith bhan
6. Ni bhraithim go maith san ait seo

Category 4: Fricatives (Focal element of sentence have fricative)
7. Déanfaidh mé pé rud is féidir liom, mas fia dhom é
8. Tiocfaidh an samhradh is fasfaidh an féar

Category 5: Stops
9. Ni déigh liom go bhfuil tada sa scéal ach piosa spraoi
10. Déan pé rud a cheapann ti féin

Ulster Voice
S categories: 2 examples of each

Category 1: Reduction
11. Gabh mo leithscéal — bhfuil fhios agat ca bhfuil Tom Ban?
12. Caidé duirt ti faoin bhruscar?

Category 2: Long Vowels (4+ long vowel sounds)
13. Caidé¢ faoin oiche ar¢ir?
14. O, cé h¢ féin?

Category 3: Short Vowels (4+ short vowel sounds)
15. An cara leat an freastalai seo?
16. An bhfaca mé tusa ag dul thart anseo aréir?

Category 4: Fricatives (Focal element of sentence have fricative)
17. B’fhearr liom seasamh go f6ill, ma ta sé sin ceart go leor leatsa
18. Ar éigean go n-aithneoinn ¢ da sitlfadh s¢ isteach an doras anois

Category S: Stops (Focal element of sentence has stop)
19. An bhfuil aon chineal pictiir de i do cheann agat?
20. T4 turas eagraithe dainn inniu
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Translation of Teacher Test Sentences:
Connaught Voice
S categories: 2 examples of each

Category 1: Reduction
1. 1I'm well, thank you
2. Yes, do you know wihere Tom Ban is?

Category 2: Long Vowels (4+ long vowel sounds)
3. What are you saying?
4. What business have you with me?

Category 3: Short Vowels (4+ short vowel sounds)
5. He was tall, thin with black hair and a white suit
6. Idon’t feel well in this place

Category 4: Fricatives (Foc:al element of sentence have fricative)
7. I'll do everything I can, if it’s worthwhile to me
8. The summer will come and the grass will grow

Category 5: Stops
9. It's only a bit of fun - I don 't think there’s more to the story
10. Do whatever you think yourself

Ulster Voice
S categories: 2 examples of each

Category 1: Reduction
11. Excuse me — do youw know where Tom Ban is?
12. What did you say about the rubbish?

Category 2: Long Vowels (4+ long vowel sounds)
13. What about lastnight?
14. Oh, who’s he?

Category 3: Short Vowels (4+ short vowel sounds)
15. Is this waiter a friend of yours?
16. Did I see you around here lastnight?

Category 4: Fricatives (Focal element of sentence have fricative)
17. I would prefer to stand for the moment, if that’s ok with you
18. Hardly would I recognise him if he were to walk in the door now

Category 5: Stops (Focal element of sentence has stop)

19. Do you have any picture of him in your head?
20. There’s a trip organised for us today
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B4: Teacher Post-Test Questionnaire
(Screenshot)

Ceistneoir
Céim5as5

abair.ie
)

 Rannég 5: AISEOLAS s

(1) An gceapann ti go mbeadh caint shintéiseach ag an leibhéal seo oiriinach do chiuiche ar nés Digichaint?

Té an guth
intéiseach
. B'fhearr guth Is cuma guth .
Nibheadhin | 4a5nna na guth | sintéiseach ng | Pe39AININ NIOS | groayh cinnte
aon chor Shiiitonsdh (I ol oiriinai don
g chluiche seo n&
I an guth daonna

(2) An déigh leat go mbeadh guthanna mar seo tarraingteach d'fhoghlaimeoirf sinsearacha meénscoile?

1 2 < 4 5
Gan a bheith An-
g'ﬂ"aincteam tarraingteach|

(3) Cad a cheapann ti de chaighdean labhartha na Gaeilge ag ABAIR.IE?

Marcaid ar an scala thios @)

E 2 3 4 5
Ar
Andeg fheabhas

(4) Breac sios sa bhosca thios, le do thoil, aon aiseolas a ritheann |eat faoi na guthanna,
faoin gcluiche, faoin gcoincheap go ginearaita, né aon ni eile bainteach leis an dtriail seo:

Té do chuid tainmi rithabhachtach domsa ag an staid seo den taig, nn an-bhuioch diot acn tuainmiimoltal a ritheann leat @ chid

Ar Agraidh
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Appendix C

C1: Pupil Pre-Game Questionnaire
C1.1: Irish Language Version:

(Screenshot of Directions Given: this same text was presented for all 3 Platforms)

Réamh-cheistneoir

Céim1las3
| Questionnaire in English |

abair.ie
)

A dhalta,
Tdimid an-bhuioch diot as pdirt a ghlacadh sa taighde seo. Té tri rud le déanamh:
(1) lion isteach réamh-cheistneoir chun eolas gineardlta a thabhairt diinn fit féin:

(2) imir an cluiche;
(3) lion isteach ceistneoir eile chun do chuid tuairimi faoin gcluiche (go hdirithe na graifici agus na guthanna) a thabhairt ddinn.

Beidh do chuid tuairimi an-tdbhachtach diinn agus sinn ag pleandil bogearrai nua d fhoghlaimeoiri Gaeilg

Clicedil thios chun tuilleadh eolais a fhdil ar:

| + Guthanna Sintéiseacha |

| + Treoracha don Réamh-cheistneoir |

(Questionnaire Items:)

Rannég 1: SONRAI PEARSANTA

1. Ainm Uséideora:

2. Inscne:
| Fireann | Baineann J
3. Rang ar scoil:
| 44 bliain | 5 bliain | 61 bliain

4. An bhfuil tu ag freastal ar:

| Scoil Bhéarla | Gaelscoil | Scoil Ghaeltachta |
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Rannég 2: FIUNTAS AN CHLUICHE MAR AIS FHOGHLAMA

5. Cé chomh minic is a imrionn ti cluichi ar an riomhaire?

Ar a laghad ar Ni imrim cluichi
Gach la bhonn seachtainiil Go hannamh riomhaire riamh

Rannég 3: ABHAIR SCOILE

6. Cén leibhéal tuisceana ata agat ar ghnath-Ghaeilge labhartha, dar leat?

Formhor na
Cupla focal Cupla frasa Piosai de gcombhraite Beagnach
nuair a simpli nuair a chomhra nuair a bhionn | gach comhra
labhraitear go | labhraitear go an chaint le gnath-luas
mall iad mall iad soiléir cainte

7. Cé¢ acu Gnathleibhéal né Ardleibhéal Gaeilge a thog tu sa Teastas
Soisearach?

| Gnathleibhéal |  Ardleibhéal |

8. Cé acu Gnathleibhéal n6 Ardleibhéal Gaeilge a cheapann tu a thogfaidh ti don
Ardteistiméireacht?

| Gnathleibhéal | Ardleibhéal |

9. Déan liosta de do rogha cuig dbhar a dhéanann tu ar scoil ag tosu leis an
geeann is fearr leat:

An t-abhar is fearr liom:

2u abhar is fearr liom:

3u abhar is fearr liom:

44 abhar 1s fearr liom:

5u abhar is fearr liom:

Rannég 4: GUTHANNA SINTEISEACHA

10. Cad € do thuairim féin faoi ghuth sintéiseach?

Is cuma liom Braithim go Bionn guth
Ceart go leor | guth daonna mbionn an sintéiseach
Is fuath liom | ach b’fhearr nod guth guth nios oiriunai
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é liom guth sintéiseach fad sintéiseach | na guth daonna
daonna is go dtuigim é oiriunach uaireanta

uaireanta

Breac sios anseo, le do thoil, aon aiseolas eile a ritheann leat faoi aon ghné den
cheistneoir seo:

C1.2: English Language Version:

(Screenshot of Directions Given: the text was the same for for all 3 Platforms)
Pre-Game
Questionnaire

Step 1 0of 3

Dear pupil,

We are very grateful for your participating in this research project.
Your overall task is comprised of three sections:

(1) fill in the Pre-Game Questionnaire to give us some general background information about yourself:

(2) play the Game:;

(3) fill in the Post-Game Questionnaire giving us your opinions on the game (particularly on the graphics and synthesised voices).
Your opinions will be very important to us for the future development of software for learners of Irish.

Click on each of these links for further information on:

| + Synthesised Voices |

I + Instructions for Pre-Game Questionnaire |

[T o]

(Questionnaire Items:)

Section 1: BACKGROUND INFORMATION

1. Username:

2. Gender:

| Male | Female ]

3. Year in School:
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4" year 5™ year 6" year
4. Do you attend:
an English-medium Gaelscoil Gaeltacht school
school
Section 2: COMPUTER GAMES
5. How often do you play games on the computer?
Daily | Atleast weekly | Rarely | Never

Section 3: SCHOOL SUBJECTS

6. How would you describe your general ability to understand spoken Irish?

Only a few A few Parts of a Most Almost all
words simple conversation conversations | conversations
spoken phrases when spoken at natural
slowly spoken clearly speaking speed

slowly

7. Did you study Irish at ordinary level of at higher level for the Junior

Certificate?

Ordinary Level
Irish

Higher Level
Irish

8. Do you expect to take ordinary level or higher level Irish for the Leaving

Certificate?

Ordinary Level
Irish

Higher Level
Irish

9. What are your ‘Top 5’ favourite subjects in school?

Favourite Subject:

2™ favourite subject:

3™ favourite subject:

4™ favourite subject:

5™ favourite subject:
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Section 4: SYNTHESISED VOICES

10. What is your own opinion of synthesised voices?

I hate them

A human
voice is more
suitable in all

contexts

[ have no
preference as
long as the
voice 18
intelligible

Synthesised
voices can be
suitable in
certain
contexts

Synthesised
voices are
more attractive
than human
voices in
certain
contexts

Please type in the box below any extra information you would like to include
about any aspect of this questionnaire:
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C2: Pupil Post-Game Questionnaire: Digichaint

(Screenshot of Directions Given)

- Note: pupils were free to answer the questionnaires either through Irish or through
English. The Irish language questionnaires are included here in Appendix C and the
English language translations are included in Appendix E (with the results)

Ceistneoir
faoin gCluiche

Céim 3 as 3

| Questionnaire in English |

Lion isteach, le do thoil, an Iar-cheistneoir chun do chuid tuairimi faoin gcluiche Digichaint a chur in idl.

Is spéis linn do chuid tuairimi thar cdig mhér-réimse:

- na graifici atd in Usdid;

- an mhaitheas a bhaineann le cluiche costil leis an gceann seo;
- plota an chluiche;

- na guthanna sintéiseacha;

- cluichi mar dis fhoghlama.

Usdidfear an t-eolas seo chun tuilleadh forbartha agus taighde a dhéanamh ar ghuthanna sintéiseacha agus ar chluichf
idirghniomhacha don Ghaeilge.

6o raibh mile maith agaibhl

Ainm Usaideora:

| ]

Breac sios, le do thoil, an chéad rud a ritheann leat faoin gcluiche seo, biodh sé
dearfach no diultach:

(Marcail ar scala 6 1 go 5)

Rannég 1: NA GRAFAICI

1. Léirigh do thuairim faoi na grafaici a usdideadh sa chluiche.

| Anlag | Lag | Réasinta | Maith | An-mhaith |

2. Go teicniuil, ar bhraith tu go raibh an cluiche...
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An-deacair le
himirt

Deacair le
himirt Réasunta

Easca le
himirt

An-éasca le
himirt

Rannég 2: FIUNTAS AN CHLUICHE MAR AIS FHOGHLAMA

3. Phioc mé suas cupla frasa/focal/pointe gramadai nua fad is a bhi m¢ ag imirt

an cluiche.

Easaontaim go
hiomla

Easaontaim Neodrach

Aontaim

Aontaim go
hiomlan

4. Bhi an focloir disidil mar chabhair le foghlaim na Gaeilge sa chluiche seo.

Easaontaim go
hiomlan

Easaontaim Neodrach

Aontaim

Aontaim go
hiomlan

5. Léirigh do thuairim faoin gcluiche dirithe seo mar ais fhoghlama teanga:

An- An-
mhithaitneamhach | Mithaitneamhach | Neodrach | Taitneamhach | taitneamhach
Rannég 3: AN SCEAL A USAIDEADH SA CHLUICHE
6. Bhi an plota soiléir dom 6 thas an chluiche.
Ni raibh in Measartha Bhi an plota
aon chor Ni raibh Neodrach soiléir soiléir on tus
7. An raibh an plota réadil don chluiche seo?
Ni raibh an Bhi an plota
plota réadil Ni raibh an Neodrach measartha Bhi an plota
in aon chor plota réaduil réaduil réaduil
8. D’fhanas dirithe ar an gcluiche agus mé a imirt.
Easaontaim go Aontaim go
hiomlan Easaontaim Neodrach Aontaim hiomlan

9. Bhios nios m¢ dirithe ar phlota an chluiche na mar a bhi ar struchtir na teanga

a bhi in usdid.
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Aontaim go
hiomlan

Easaontaim go
hiomlan

Easaontaim Neodrach Aontaim

10. Ta cothromaiocht mhaith idir spraiulacht agus seansanna foghlama teanga sa
chluiche seo.

Easaontaim go
hiomlan

Aontaim go
hiomlan

Easaontaim Neodrach Aontaim

Rannég 4: CAIGHDEAN NA NGUTHANNA SINTEISEACHA SA CHLUICHE

-

Ba mhaith linn do thuairim faoi chaighdesn na nguthanna sintéiseacha agus a n-
oiriuntacht d’ais fhoghlama mar seo. Ba mhaith linn idirdheal a dhéanambh idir na
guthanna sintéiseacha agus dha cheist eile:

(a) leibhéal deacrachta na Gaeilge

(b) do thaithi féin le candinti éagsula

11. Ceapaim go bhfuil leibhéal deacrachta na Gaeilge oiriinach domsa.

Aontaim a
Ni aontaim ar | Ni déigh liom Neodrach bheag no a Aontaim go
chor ar bith é mhor hiomlan

PE2

Ma cheapann ti nach bhfuil leibhéal deacrachta na Gaeilge
oiritmach, an ¢ go bhfuil sé...

| Ro-dheacair |

Ro-€asca

12. Ta na guthanna sintéiseacha sach soiléir chun an chaint a thuiscint.

Ni aontaim in Aontaim a Aontaim go
aon chor Ni doigh liom Neodrach bheag no a hiomlan
é mhor
13. Ar bhraith t1 deacracht leis na canuinti ata in usaid sa chluiche?
Deacrachtai Roinnt Gan moran Gan aon
mora leis na deacrachtai Neodrach deacrachtai deacracht leis
canuinti leis na leis na na canuinti
canuinti canuinti
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14. Bhi sé¢ chomh héasca céanna an guth sintéiseach a thuiscint sa chluiche is a
bheadh s¢ le guth nadurtha.

Easaontaim go
hiomlan

Easaontaim

Neodrach

Aontaim

Aontaim go
hiomlan

15. Ceapaim go dtugann guthanna sintéiseacha atmaisféar nios fearr do chluichi

riomhaireachta na mar a dhéanann guthanna naduartha de ghnath.

Easaontaim go Aontaim go
hiomlan Easaontaim Neodrach Aontaim hiomlan

16. Cheapas go raibh an guth sintéiseach oiriunach don chluiche seo.

Easaontaim go Aontaim go
hiomlan Easaontaim Neodrach Aontaim hiomlan

Rannég 5: CLUICHI (GO GINEARALTA) MAR AIS FHOGHLAMA

Nil sa chluiche a d’imir tu anois ach sampla amhain de chluiche idirghniomhach a
usaideann grafaici agus guthanna sintéiseacha. Sa rannog seo, ba mhor againn do
chuid tuairimi faoi na ceisteanna thios:

17.1 Cén fiintas a bhaineann le cluiche idirghniomhach le guthanna
sintéiseacha a chur ar fail mar ais chun cleachtadh a dhéanamh ar do chuid

Gaeilge?

Ni fiu faic é

Ni fid méran é

Neodrach

Ta fiantas ag
baint leis

Is fia go moér
é

17.2 An bhfuil caighdedn na nguthanna sintéiseacha, mar até faoi lathair,
inghlactha don chomhthéacs ina bhfuil siad in said sa chluiche seo?

Nil an
caighdedn
maith go leor

Ta an
caighdean
réasunta iseal

Neodrach

Td an
caighdedn
inghlactha

Téa an
caighdean
inghlactha go
hiomlan

17.3 Cé chomh tarraingteach is atd na guthanna sintéiseacha i gcomhthéacs
cluiche mar seo?
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An-
mhitharraingteach

Mitharraingteach

Neodrach

Tarraingteach

An-
tarraingteach

18. Breac sios anseo, le do thoil, aon aiseolas eile a ritheann leat faoin
gcluiche, faoi na guthanna, faoin gcoincheap go ginearalta, n6 aon ni eile
bainteach leis an dtriail seo:
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C3: Pupil Post-Game Questionnaire: Failte go TCD

Ceistneoir e
faoin gCluiche EDEUAL

Céim3as3

| Questionnaire in English |

Lion isteach, le do thoil, an Tar-cheistneoir chun do chuid tuairimi faoi na graifici a chonaic 1 ar an leathanach
roimhe seo a chur in idl.

Is spéis linn do chuid tuairimi thar ceithre mhér-réimse:

- na graifici atd in Usdid;

- an mhaitheas a bhaineann le fisedn cosiiil leis an gceann seo;
- na guthanna sintéiseacha;

- cluichi mar dis fhoghlama.

Usdidfear an t-eolas seo chun tuilleadh forbartha agus taighde a dhéanamh ar ghuthanna sintéiseacha agus ar
chiuichi idirghniomhacha don Ghaeilge.

Go raibh mile maith agaibhl

Ainm Usaideora:

| |

Breac sios, le do thoil, an chéad rud a ritheann leat faoin gcluiche seo, biodh sé
dearfach n¢ diultach:

(Marcail ar scala o 1 go 5)

Rannég 1: NA GRAFAICI

1. Cad ¢ do thuairim faoin gculra agus faoi na grafaici sa bhfisedn seo?

An- An-
mhitharraingteach | Mitharraingteach | Neodrach | Tarraingteach | tarraingteach

2. Cad € do thuairim faoi ghluaiseacht na gcarachtar agus mar a luionn an
ghluaiseacht leis an gcaint?

[ An-dona | Dona | Neodrach | Maith |  An-mhaith |
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3. Cé chomh maith is a chuireann na graifici le hinchreiditint agus le soiléireacht
chaint na gcarachtar?

| An-dona

l

Dona

l

Neodrach

|

Maith

An-mhaith

l

Rannég 2: FIUNTAS AN CHLUICHE MAR AIS FHOGHLAMA

4. Cé chomh cabhrach is a bheadh an saghas seo timpeallachta (na guthanna, na
grafaici agus an suiomh) 1 bhfoghlaim na cluasthuisceana?

Gan a bheith
cabhrach in
aon chor

Is beag an
chabhair i

Neodrach

Cabhrach

An-chabhrach

5. An mbainfea taitneamh as ais mar seo a usaid agus tu ag foghlaim na Gaeilge,

da mbeadh teacht uirthi to héasca i do scoil?

Ni bhainfinn, Bhainfinn go
in aon chor Ni déigh Neodrach Bhainfinn mor
liom ¢
6. Cé chomh spreagnil is a cheapfa go mbeadh a leithéid seo d’ais?
Gan a bheith
spreaguil in Gan a bheith Neodrach Spreaguil An-spreaguil
aon chor spreaguil

7. An gceapann tu go ndéanfadh 4is mar seo foghlaim na Gaeilge nios tarraingti?

Ni dhéanfadh
in aon chor

Ni décha go
ndéanfadh

Neodrach

Dhéanfadh

Dhéanfadh,
cinnte

Rannég 3: CAIGHDEAN NA NGUTHANNA SINTEISEACHA SA CHLUICHE

Ba mhaith linn do thuairim faoi chaighdein na nguthanna sintéiseacha agus a n-
oiriuntacht d’ais fhoghlama mar seo. Ba mhaith linn idirdheala a dhéanambh idir na
guthanna sintéiseacha agus dha cheist eile:

(a) leibhéal deacrachta na Gaceilge
(b) do thaithi féin le canainti éagsula
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8. Ceapaim go bhfuil leibhéal deacrachta na Gaeilge oiriinach domsa.

Ni aontaim ar
chor ar bith

Ni déigh liom
¢

Neodrach

Aontaim a
bheag n6 a
mhor

Aontaim go
hiomlan

8.2 Ma cheapann ti nach bhfuil leibhéal deacrachta na Gaeilge oiritinach,
an ¢é go bhfuil sé...

| Ro-dheacair |

Ro-€asca

9. Téa na guthanna sintéiseacha sach soiléir chun an chaint a thuiscint.

Aontaim a
Ni aontaim in | Ni ddigh liom Neodrach bheag no a Aontaim go
aon chor é mhor hiomlan
10. Ar bhrath ti deacracht leis na canuinti ata in usaid in Taidhgin?
Deacrachtai Roinnt Gan moran Gan aon
mora leis na deacrachtai Neodrach deacrachtai deacracht leis
canuainti leis na leis na na canainti
canuinti canuinti

Ranndg 4: CLUICHI (GO GINEARALTA) MAR AlS FHOGHLAMA

Nil sa bhfisean a I¢iriodh ach sampla amhain de chluiche a Gisaideann grafaici agus
guthanna sintéiseacha. Sa rannog seo, ba mhor againn do chuid tuairimi faoi na

ceisteanna thios:

11_1 Cén fidntas a bhaineann le carachtar fiortil idirghniomhach (virtual
conversational partner) le guth sintéiseach a chur ar fail mar ais chun

cleachtadh a dhéanamh ar chomhra Gaeilge?

Ni fia faic é

Ni fid moérén ¢é

Neodrach

Ta fiintas ag
baint leis

Is fia go mor
¢

11 _2 An bhfuil caighdedn na nguthanna sintéiseacha, mar ata faoi lathair,
inghlactha don chomhthéacs ina bhfuil siad in usdid sa chluiche seo?

Nil an

Ta an

Ta an

Ta an
caighdean
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caighdean
maith go leor

caighdean
réasunta iseal

Neodrach

caighdean
inghlactha

inghlactha go
hiomlan

11 3 Cé chomh tarraingteach is ata na guthanna sintéiseacha i gcomhthéacs
cluiche mar seo?

An-
mhitharraingteach

Mitharraingteach

Neodrach

Tarraingteach

An-
tarraingteach

12. Breac sios anseo, le do thoil, aon aiseolas eile a ritheann leat faoin
gcluiche, faoi na guthanna, faoin gcoincheap go ginearalta, n6 aon ni eile
bainteach leis an dtriail seo:
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C4: Pupil Post-Game Questionnaire: Taidhgin

Ceistneoir
faoin gCluiche

Céim3as 3
[ Questionnaire in English |

Lion isteach, le do thoil, an Iar-cheistneoir seo chun do chuid tuairimi faoi dis mar Taidhgin a chur in idl.

Is spéis linn do chuid tuairimi thar ceithre rannég:

- na graifici atd in Gsdid;

- an mhaitheas a bhaineann le cluiche costiil leis an gceann seo;
- na guthanna sintéiseacha;

- cluichi mar dis fhoghlama.

Usdidfear an t-eolas seo chun tuilleadh forbartha agus taighde a dhéanamh ar ghuthanna sintéiseacha agus ar
chluichi idirghniomhacha don Ghaeilge.

Go raibh mile maith agaibh!

Ainm Usaideora:

R )

Breac sios, le do thoil, an chéad rud a ritheann leat faoin gcluiche seo, biodh sé
dearfach n¢ diultach:

(Marcail ar scala 6 1 go 5)

Rannég 1: NA GRAFAICI

1. An mbraitheann tu go bhfuil na graifici (an moncai) tarraingteach?

An- An-

mhitharraingteach | Mitharraingteach | Neodrach | Tarraingteach | tarraingteach

2. An gcuireann an moncai le spraitlacht an chluiche?

Ni chuireann Cuireann go
in aon chor Ni doéigh Neodrach Cuireann mor
liom ¢
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3. Cad a cheapann ti den tsli a luionn gluaiseachtai an mhoncai leis an gcaint?

I An-dona

I

Dona

|

Neodrach

Maith

l

An-mhaith |

Rannég 2: FIUNTAS AN CHLUICHE MAR AIS FHOGHLAMA

4. Cé¢ chomh cabhrach is a bheadh an saghas seo aise (i. an idirghniomhaiocht
agus an spraitlacht) i1 gcleachtadh comhra Gaeilge?

Gan a bheith
cabhrach in

aon chor

Is beag an
chabhair i

Neodrach

Cabhrach

An-chabhrach

5. An mbainfed Gsaid as ais mar seo chun do chuid Gaeilge a chleachtadh da
mbeadh teacht uirthi go héasca i do scoil?

Ni bhainfinn | Ni bhainfinn Bhainfinn 6 Bhainfinn go
riamh moran Neodrach am go chéile rialta
6. Cé chomh spreaguil is a bheadh ais mar seo, dar leat?
Gan a bheith
spreaguil in Gan a bheith Neodrach Spreaguil An-spreagil
aon chor spreaguil

7. An gceapann ti go ndéanfadh ais mar Taidhgin foghlaim na Gaeilge nios

tarraingti?
Ni dhéanfadh | Ni décha go Dhéanfadh,
in aon chor ndéanfadh Neodrach Dhéanfadh cinnte

Rannég 3: CAIGHDEAN NA NGUTHANNA SINTEISEACHA SA CHLUICHE

Ba mhaith linn do thuairim faoi chaighdean na nguthanna sintéiseacha agus a n-
oiriuntacht d’ais fhoghlama mar Taidhgin. Ba mhaith linn idirdheala a dhéanambh idir
na guthanna sintéiseacha agus dha cheist eile:

(a) leibhéal deacrachta na Gaeilge (na focail/frasai a d’uséaid Taidhgin)
(b) taithi na ndaltai le caniinti éagsula

8. Ceapaim go bhfuil leibhéal deacrachta na Gaeilge oiriinach domsa
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Ni aontaim in
aon chor

Ni déigh liom
é

Neodrach

Aontaim a
bheag no a

mhor

Aontaim go
hiomlan

a. Ma cheapann ti nach bhfuil leibhéal deacrachta na Gaeilge oiritinach,
an ¢ go bhfuil sé...

| Ro-dheacair |

Ro-€asca

9. Ta na guthanna sintéiseacha sach soiléir chun an chaint a thuiscint

Aontaim a
Ni aontaim in | Ni déigh liom Neodrach bheag no a Aontaim go
aon chor é mhor hiomlan
10. Ar bhrath ti deacracht leis na canuinti atd in usaid in Taidhgin?
Ta siad ag
crutha Ta siad ag Neodrach Nil siad ag Nil siad ag
deacrachtai cruthu roinnt cruthi moéran cruthu aon
mora deacrachtai deacrachtai deacrachtai

Rannég 4: CLUICHI (GO GINEARALTA) MAR AIS FHOGHLAMA

Nil sa mhéid a 1éiriodh ach sampla amhdin de chainteoir fioriil a usadideann guth
sintéiseach. Sa ranndg seo, ba mhdr againn do chuid tuairimi faoi na ceisteanna thios:

11 _1 Cén fiintas a bhaineann le carachtar fiortil idirghniomhach (virtual
conversational partner) le guth sintéiseach a chur ar fail mar ais chun
cleachtadh a dhéanamh ar chomhra Gaeilge?

Ni fiu faic €

Ni fit moéran é

Neodrach

Ta fiuntas ag
baint leis

Is fiu go mor
é

11 _2 An bhfuil caighdean na nguthanna sintéiseacha, mar ata faoi lathair,
inghlactha don chomhthéacs ina bhfuil siad in Gséid in Taidhgin?

Ta an
Nil an Ta an Téa an caighdean
caighdedn caighdean Neodrach caighdean inghlactha go
maith go leor | réasinta iseal inghlactha hiomlan
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11 3 Cé chomh tarraingteach is ata na guthanna sintéiseacha i gcomhthéacs
cluiche mar seo?

An-
mhitharraingteach

Mitharraingteach

Neodrach

Tarraingteach

An-
tarraingteach

12. Breac sios anseo, le do thoil, aon aiseolas eile a ritheann leat faoin
gcluiche, faoi na guthanna, faoin gcoincheap go ginearalta, n6 aon ni eile
bainteach leis an dtriail seo:
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Appendix D

D1: Teacher Evaluation Results
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*CM = Conamara sentences
**GD = Gaoth Dobhair sentences

The top section of the table deals with the qualitative data and gives the mean,
median and mode of the opinion scores for each sentence, as scored by each of
the 31 respondents. The bottom section of the same table gives the
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corresponding quantitative data, in accordance with the criteria devised for
marking the transcriptions (Chapter 4.3.3.1.1: Criteria for marking responses to
‘intelligibility’ test).
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D2: Calculation of Intelligibility and Clarity Index

Calculating an Intelligibility and Clarity Index for Connaught dialect: application of
formula, as presented in Chapter 4.3.3.2 of the thesis

Performance Opinion

{mean {mean (5-P)+(5-0)
score) score)

1 4.9 44 0.1 0.6 0.7
2 4.4 41 0.6 0.9 1.5
3 5 3.8 0 1.2 1.2
4 5 37 0 1.3 1.3
5 4.5 24 0.5 2.6 33
6 4.5 2.8 0.5 22 2.7
7 4.8 3.2 0.2 1.8 2
8 4.7 3 0.3 2 23
9 4.8 32 0.2 1.8 2
10 5 3L2 0 1.8 1.8
11 4.7 3.2 0.3 1.8 2.1
12 4.8 3.4 0.2 1.6 1.8
13 4.7 3.6 03 1.4 357
14 5 43 0 0.7 0.7
15 5 4.7 0 0.3 0.3
16 4.9 34 01 1.6 1.7
17 35 2.3 15 3.7 5.2
18 4.8 3.8 0.2 12 1.4
19 4.5 3 0.5 2 2.5
20 35 29 1S 24 3.6
21 4.8 3 P | 0.2 1.9 21
22 4.9 3.7 0:1 173 1.4
23 5 4 0 il 1
24 5 3.8 0 122 1°2
25 S 4 0 1 1
26 4.9 4.3 0.1 0.7 0.8
27 5 4 0 1 1
28 5 3.7 0 1.3 1.3
29 4.5 3.8 0.5 12 1.7
30 5 39 0 15l 1.1
31 5 3.7 0 13 3:3

SUM: 53.5

DIVIDE BY 62: 0.862903226
(5-0.86)
Connaught
FINAL ANSWER Clarity Index: 4.137096774

382



Calculating an Intelligibility and Clarity Index for Ulster dialect: application of
formula, as presented in Chapter 4.3.3.2 of the thesis

Performance  Opinion

{(mean {(mean (5-P)+(5-0)
score) score)
1 43 27 07 23 3
2 4.7 43 0.3 0.7 1l
3 4.5 R2 0.5 1.8 2:3
4 4.4 3.4 0.6 1.6 2.2
5 3.6 24 14 29 4.3
6 37 1.6 13 34 4.7
7 4.1 2.5 0.9 2:5 34
8 4.3 2.7 0.7 2:3 3
9 4.2 2 0.3 3 3.8
10 4.7 2.6 0.3 24 2.7
11 4.2 2.3 0.8 2.7 35
12 4.5 2.6 0.5 2.4 29
13 4.8 29 0.2 20 23
14 4.3 32 0.7 1.8 25
15 4.6 3.6 0.4 1.4 1.8
16 4.4 32 0.6 1.8 24
17 3.6 1:2 14 3.8 5:2
18 4.8 3.6 0.2 1.4 1.6
19 4.4 27 0.6 23 29
20 4.2 3 0.8 2 2.8
21 4.2 15 0.8 35 4.3
22 4.4 3:1 0.6 1.9 2.5
23 4.9 3.5 0.1 3.5 1.6
24 4.8 3.2 0.2 1.8 2
25 4.3 3.4 0.7 1.6 2.3
26 5 4.2 0 0.8 0.8
27 4.3 33 0.7 1.7 2.4
28 4.9 27 0.1 23 2.4
29 3 23 2 2.7 4.7
30 4.9 3.5 0.1 1"5 1.6
31 4.8 312 0.2 1.8 2
SUM: 84.9
DIVIDE BY 62: 1.369354839
(5-1.3693)
Ulster Clarity
FINAL ANSWER Index: 3.630645161
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Appendix E

Note: Pupils could respond either in Irish or in English for each of the 3 platforms.
The text of the Irish questionnaire items is in Appendix C (without results) and the
translation (the English questionnaire items) is included here (with results).

E1: Post-Game Questionnaire Results (Descriptive Results):
Digichaint

Digichaint
Iltem | Digichaint: Total number of participants 250
1 Rate the graphics used in this game on the scale below:
Very poor 6 2.4%
Poor 28 | 11.2%
Reasonable 66 |26.4%
Good 118 | 47.2%
Very good 32 |12.8%
2 Did you feel that the game was technically...
Very difficult to play 1 0.4%
Difficult to play 11 | 4.4%
Reasonable 47 18.8%
Easy to play 128 | 51.2%
Very easy to play 63 | a89%
3 | learned some new phrases/words/grammar points as |
played the game
Completely disagree 6 2.4%
Disagree 26 |10.4%
Neutral 52 |[20.8%
Agree 127 | 50.8%
Agree completely 39 | 15.6%
4 The dictionary is helpful as an aid to learning Irish in this
game.
Completely disagree 3 1.2%
Disagree 11 | 4.4%
Neutral 37 |14.8%
Agree 138 | 55.2%
Agree completely 61 |24.4%

384




Rate your overall enjoyment of this particular game as a
language learning experience.

Very unenjoyable 1 0.4%
Unenjoyable 20 | 8%
Neutral 56 |22.4%
Enjoyable 133 | 53.2%
Very enjoyable 40 | 16%
The plot of this game was clear to me from the outset.
Completely disagree 5 2%
Disagree 31 | 12.4%
Neutral 22 | 8.8%
Agree 112 | 44.8%
Agree completely 80 |32%
Was the plot credible for this type of game?
Definitely not credible 3 1.2%
Probably not credible 26 | 10.4%
Neutral 52 | 20.8%
Reasonably credible 123 | 49.2%
The plot was credible 46 | 18.4%
The game held my attention.
Completely disagree 5 2%
Disagree 37 |14.8%
Neutral 43 | 17.2%
Agree 130 | 52%
Agree completely 35 | 14%
I was more focused on the plot of the game than | was on
the language being used.
Completely disagree 5 2%
Disagree 59 |23.6%
Neutral 52 |20.8%
Agree 113 | 45.2%
Agree completely 21 | 8.4%
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10 There is a good balance between enjoyment and language
learning in this game.
Completely disagree 2 0.8%
Disagree 16 | 6.4%
Neutral 45 | 18%
Agree 153 | 61.2%
Agree completely 34 | 13.6%
kil The overall standard of the Irish used in this game is at about
the right level for me.
Completely disagree 4 1.6%
Disagree 40 | 16%
Neutral 30 |12%
Agree 130 | 52%
Agree completely 46 | 18.4%
11a | If you feel the Irish used is not at the right level, is this
because it was...
54 | 48.6%
Too difficult 57 |51.4%
Too easy
12 The synthesised voices were sufficiently clear to make the
speech intelligible.
Completely disagree 14 |5.6%
Disagree 551 111122%
Neutral 42 16.8%
Agree 115 | 46%
Agree completely 24 | 9.6%
13 Did you experience particular difficulties with the dialects
that are used in Digichaint?
Definitely some difficulty 1 0.4%
Probably some difficulty 75 | 30%
Neutral 44 | 17.6%
Probably no difficulty 107 | 42.8%
Definitely no difficulty 23719129
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14 | found it no more difficult to understand the computer-
generated voice than | would if natural voices were used.
Completely disagree 6 2.4%
Disagree 78 |31.2%
Neutral 43 | 17.2%
Agree 96 | 38.4%
Agree completely 27 | 10.8%
15 In general, | think that computer-generated voices give a
better atmosphere to computer games than natural voices
do.
17 | 6.8%
Completely disagree 84 |33.6%
Disagree 56 |22.4%
Neutral 73 .|129.2%
Agree 20 | 8%
Agree completely
16 | found the computer-generated voice suitable for this
computer game.
Completely disagree 5 2%
Disagree 32 | 12.8%
Neutral 54 | 21.6%
Agree 142 | 56.8%
Agree completely 17 |6.8%
Give your opinion on...:
17 _1 | ...the usefulness of the concept of producing an interactive
language learning game in order to practise Irish:
Of little or no use 1 0.4%
Not particularly useful 10 | 4%
Neutral 36 |14.4%
Useful 135 | 54%
Very useful 68 | 27.2%
17_2 | ...the quality of the synthesised voices: to what extent do
you think the voices are adequate for the type of game
presented here?
Completely inadequate 3 1.2%
Inadequate 49 | 19.6%
Neutral 44 | 17.6%
Adequate 134 | 53.6%
Totally adequate 20 | 8%
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123

...the attractiveness of the voices:

Very unattractive

Unattractive

Neutral

Attractive

Very attractive

12 | 4.8%
75 | 30%
58 1723:2%
92 |36.8%
13 || 5:2%
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E2: Post-Game Questionnaire Results (Descriptive Results):
Failte go TCD

Failte go TCD
ltem | Failte go TCD: Total number of participants 252
1 How would you describe your judgment of the
background setting and the graphics in the video?
Num. %
Very unattractive 7 2.8%
Unattractive 51 20.2%
Neutral 39 15.5%
Attractive 122 | 48.4%
Very attractive 33 13.1%
2 How would you describe your judgment of the body
movements of the figures and their alignment to
speech?
6 2.4%
Very badly aligned a3 17.1%
Badly aligned 66 26.2%
Acceptable 120 | 47.6%
Well aligned 17 6.7%
Very well aligned
3 To what extent do the movements of the characters
add credibility and clarity to the conversational
exchanges?
8 3.2%
Very little credibility & clarity 53 21%
Low credibility & clarity 62 24.6%
Neutral 118 | 46.8%
Credible & clear 11 |[4.4%
Very great credibility & clarity
4 To what extent do you think this type of learning
platform (the voices, the graphics and the setting)
would help in practising listening comprehension?
Not at all helpful
Not helpful 6 2.4%
Neutral 33 13.1%
Helpful 38 15.1%
Very helpful 114 | 45.2%
61 |24.2%
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5 Would you enjoy using this type of activity to develop
your aural Irish skills, should it be available and easily
accessible in your school?
Definitely not 7 2.8%
Probably not 24 9.5%
Neutral 311 12.3%
Probably 122 | 48.4%
Definitely 68 |27%
6 How moativating do you find this type of activity?
Not at all motivating 5 2%
Not particularly motivating 41 16.3%
Neutral 46 18.2%
Motivating 134 | 53.2%
Very mativating 26 10.3%
7 Do you think this type of activity would make the
learning of Irish more attractive?
Definitely not 3 1.2%
Probably not 20 8%
Neutral 34 13.5%
Probably 139%155.19%
Definitely 56 22.2%
8 The overall standard of the Irish used is at about the
right level for me.
Completely disagree 4 1.6%
Disagree 38 15.1%
Neutral 33 13.1%
Agree 139%11155.1%
Agree completely 38 15.1%
8.1 If you feel the Irish used is not at the right level, is this
because it was...
34 (31%
Too difficult 76 | 69%
Too easy
9 The synthesised voices were sufficiently clear to make
the speech intelligible.
[Completely disagree I 15 | 5.9%
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Disagree 74 29.4%
Neutral 51 20.2%
Agree 103 | 40.9%
Agree completely 9 3.6%
10 Did you experience particular difficulties with the
dialects that are used in the video?
Definitely some difficulty 22 8.7%
Probably some difficulty 71 28.2%
Neutral 33 13.1%
Probably no difficulty 107 | 42.5%
Definitely no difficulty 19 |7.5%
Please give your opinion on:
11 1 | ...the usefulness of producing graphics with
synthesised voices in order to practise aural
comprehension.
Of little or no use 4 1.6%
Not particularly useful 24 9.5%
Neutral 26 10.3%
Useful 151 | 60%
Very useful 47 18.6%
11 2 | ...the quality of the synthesised voices: to what extent
do you think the voices are adequate for the type of
learning platform presented here?
Completely inadequate 6 2.4%
Inadequate 64 25.4%
Neutral 54 |21.4%
Adequate 121 | 48%
Totally adequate 7 2.8%
11_3 | ...the attractiveness of the voices:
Very unattractive 15 6%
Unattractive 80 31.7%
Neutral 62 24.6%
Attractive 88 34.9%
Very attractive 7 2.8%
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E3: Post-Game Questionnaire Results (Descriptive Results):

Taidhgin
Taidhgin
Item | Taidhgin Total number of participants 228
1 Do you feel the graphic display (the talking monkey) is
suitable for this type of game/activity?
Num. %
Definitely not suitable 1 0.4%
Not really suitable 12 5.3%
Neutral 1174 7.4%
Quite suitable 98 43%
Very suitable 100 | 43.9%
2 Do you feel the talking monkey adds to the overall
playfulness of the exercise?
Definitely not 2 0.9%
Probably not 10 4.4%
Neutral 11 4.8%
Probably does 95 41.7%
Definitely does 110 | 48.2%
How would you describe the movements of the talking
3 monkey and their alignment to speech?
Very badly aligned 2 0.9%
Badly aligned 25 11%
Acceptable 45 19.7%
Well aligned 111 | 48.7%
Very well aligned 45 19.7%
4 To what extent do you think this type of learning
platform (i.e. the interaction and playfulness) would help
in practising conversational Irish?
Not at all helpful 3 1.3%
Not helpful 3.9%
Neutral 20 |8.8%
Helpful 116 | 50.9%
Very helpful 80 35.1%
5 Would you use a virtual conversation partner (like the

talking monkey) should it be available and easily
accessible in your school?
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Definitely not 5 2.2%
Probably not 20 8.8%
Neutral 22 9.6%
Probably 104 | 45.6%
Definitely 77 | 33.8%
6 To what extent would you be motivated by this type of
activity?
Not at all motivated 3 1.3%
Not particularly motivated 12 [53%
Neutral 26 11.4%
Motivated 129 | 56.6%
Very motivated 58 25.4%
7 Do you think a virtual conversation partner such as
Taidhgin would make the learning of Irish more
attractive?
Definitely not 0.4%
Probably not 3.1%
Neutral 20 8.8%
Probably 111 | 48.7%
Definitely 89 39%
8 The overall standard of the Irish used by Taidhgin is at
about the right level for me.
Completely disagree 10 |4.4%
Disagree 32 14%
Neutral 33 14.5%
Agree 105 | 46%
Agree completely 48 21.1%
8.1 If you feel the Irish used is not at the right level, is this
because it was...
20 | 21%
Too difficult 75 | 79%
Too easy
9 The synthesised voices were sufficiently clear to make
the speech intelligible.
Completely disagree 2 0.9%
Disagree 31 13.6%
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Neutral 29 12.7%
Agree 124 | 54.4%
Agree completely 42 18.4%
10 Did you experience particular difficulties with the
dialects that are used in Taidhgin?
Definitely some difficulty 4 1.8%
Probably some difficulty 39 17:1%
Neutral 31 13.6%
Probably no difficulty 109 | 47.8%
Definitely no difficulty 45 19.7%
Please give your opinion on:
11 1 | ...the usefulness of the concept of producing a virtual
conversation partner who speaks with a synthesised
voice in order to practise oral Irish:
Of little or no use 2 0.9%
Not particularly useful 7 3.1%
Neutral 31 13.6%
Useful 110 |48.2%
Very useful 78 34.2%
11_2 | ...the quality of the synthesised voices: to what extent
do you think the voices are adequate for the type of
learning platform presented here?
Completely inadequate 5 2.2%
Inadequate 27 11.8%
Neutral 29 12.7%
Adequate 144 | 63.2%
Totally adequate 23 10.1%
11 3 | ...the attractiveness of the voices:
Very unattractive 5 2.2%
Unattractive 45 19.7%
Neutral 48 21%
Attractive 106 | 46.5%
Very attractive 24 10.6%
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Appendix F

F1: Kruskal-Wallis Test Results: Digichaint

Expansion of Kruskal-Wallis Test for items showing significance in Table 5.9,
Chapter 5. These expansions show the mean rank scores and the direction of the
differences. They also give the post hoc analysis showing where the difference lies.

Gender

Test Statistics™”
Item 1
Chi-Square | 6.120
df 1
Asymp. .013
Sig.
a. Kruskal Wallis
Test

b. Grouping
Variable: Gender

Gender
Item 1 Female
Male
Total

Kruskal-Wallis Test Statistics for Iltem 1:

H(1)=6.120, p=0.013 *
Between-School Differences

Item 1: Rate the graphics used in this game on a scale of 1 -5

Test Statistics™”

Item 1

Ranks
School

Type

Gaeltacht

Gaelscoil

English
Total
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Asymp.
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a. Kruskal Wallis
Test

b. Grouping

" Variable: School

Type

Kruskal-Wallis Test Statistics for Item 1:

H(2)=23.133, p=0.000 *

Kruskal-Wallis Test Statistics for post hoc analysis of Item 1:
Gaeltacht x Gaelscoil: H(1)=0.099, p=0.753

Gaeltacht x English: H(1)=18.906, p=0.000 *

Gaelscoil x English: H(1)= 9.499, p=0.002 *

Item 3: | learned some new phrases/words/grammar points as | played
through the game.

Test Statistics™”
Item 3
27.139
df 2
Asymp. .000

Ranks

School Type] N | Rank
Gaeltacht
Gaelscoil
English 139 144.66
Total 250

a. Kruskal Wallis
Test

b. Grouping
Variable: School

- Type

Kruskal-Wallis Test Statistics for Item 3:

H(2)=27.139, p=0.000 *

Kruskal-Wallis Test Statistics for post hoc analysis of ltem 3:
Gaeltacht x Gaelscoil: H(1)=2.207, p=0.137

Gaeltacht x English: H(1)=19.109, p=0.000 *
Gaelscoil x English: H(1)= 14.138, p=0.000 *

Item 4: The dictionary is helpful as an aid to learning Irish in this game.

Test Statistics™®
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School
Type

Gaeltacht
Gaelscoil
English

Total

Kruskal-Wallis Test Statistics for Item 4:

H(2)=-26.624, p—0.000 *

: | Asymp.
| Sig.

Item 4

Chi-Square | 26.624
|df 2
000f

"~ a. Kruskal Wallis

Test

' b. Grouping
. Variable: School
- Type

Kruskal-Wallis Test Statistics for post hoc analysis of ltem 4:

Gaeltacht x Gaelscoil: H(1)=1.184, p=0.276
Gaeltacht x English: H(1)=19.109, p=0.000 *
Gaelscoil x English: H(1)= 3.348, p=0.067

Item 5: Rate your overall enjoyment of this particular game as a
language learning experience.

Ranks

Test Statistics™”

School
Type

Mean

Item 5

Gagcltacht
Gaelscoil
English
Total

139

141.95

Kruskal-Wallis Test Statistics for Iltem 5:

H(2)=29.324, p=0.000 *

Chi-Square
df

Asymp.
Sig.

29.324
2
.000

Test

b. Grouping
Variable: School

Type

a. Kruskal Wallis

Kruskal-Wallis Test Statistics for post hoc analysis of ltem 5:

Gaeltacht x Gaelscoil: H(1)=12.337, p=0.000 *
Gaeltacht x English: H(1)=9.492, p=0.002 *
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Gaelscoil x English: H(1)= 23.158, p=0.000 *

Item 7: Was the plot credible for this type of game?

Ranks

Test Statistics™”

School
Type

Mean

Item 7

Gaelscoil
English
Total

Gaeltacht

139

140.33

Chi-Square | 21.519
df 2
Asymp. .000

Sig. ;

. Type

a. Kruskal Wallis
Test

b. Grouping
Variable: School

Kruskal-Wallis Test Statistics for Iltem 7:

H(2)=21.519, p=0.000 *

Kruskal-Wallis Test Statistics for post hoc analysis of Item 7:

Gaeltacht x Gaelscoil: H(1)=5.782, p=0.016 *
Gaeltacht x English: H(1)=7.212, p=0.007 *
Gaelscoil x English: H(1)= 19.079, p=0.000 *

Item 8: The game held my attention.

Ranks

Test Statistics™”

School
Type

Mean

Item 8

Gaelscoil
English
Total

Gaeltacht

139

138.15

Chi-Square | 19.302
df 2
Asymp. .000
Sig.

- Type

a. Kruskal Wallis
Test

b. Grouping
Variable: School
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Kruskal-Wallis Test Statistics for Item 8:

H(2)=19.302, p=0.000 *

Kruskal-Wallis Test Statistics for post hoc analysis of item 8:
Gaeltacht x Gaelscoil: H(1)=10.337, p=0.001 *

Gaeltacht x English: H(1)=5.057, p=0.025 *
Gaelscoil x English: H(1)= 15.674, p=0.000 *

Item 10: There is a good balance between enjoyment and language
learning in this game.

Test Statistics™®

Item

Ranks |
School Mean

Type N | Rank 10
Item 10  Gaeltacht Chi-Square | 6.794
|ar 2

Gaelscoil | Asymp. .033

Sig.
- a. Kruskal Wallis
& Test

' b. Grouping
Variable: School
. Type

English 139 1344

Kruskal-Wallis Test Statistics for Iltem 10:

H(2)=6.794, p=0.033 *

Kruskal-Wallis Test Statistics for post hoc analysis of item 10:
Gaeltacht x Gaelscoil: H(1)=0.628, p=0.428

Gaeltacht x English: H(1)=4.589, p=0.032 *

Gaelscoil x English: H(1)= 3.849, p=0.050

Item 11: The overall standard of the Irish used in this game is at about
the right level for me.

Ranks
School Mean
i Type N | Rank }f 11
[item 11 Gacltacht | 86| 123.62 || [ Chi-Square | 6.724] |
Gaclsoll 25 158,00 RO 2 Bl
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English 139| 120.82 || | Asymp. 035
Total ’

a. Kruskal Wallis
Test
b. Grouping
Variable: School
Type

Kruskal-Wallis Test Statistics for Item 11:

H(2)=6.724, p=0.035 *

Kruskal-Wallis Test Statistics for post hoc analysis of ltem 11:
Gaeltacht x Gaelscoil: H(1)= 4.299, p=0.038 *

Gaeltacht x English: H(1)= 0.072, p=0.788
Gaelscoil x English: H(1)= 7.350, p=0.007 *

Item 13: Did you experience particular difficulties with the dialects that
are used in Digichaint?

Test Statistics™”

Ranks

School Mean Item
Type N | Rank 13

Item 13 Gaeltacht Chi-Square | 6.114
Gaelscoil 25| 136.04 || |df 2
English A'Symp. 047
Total Sig.

a. Kruskal Wallis
Test

b. Grouping
Variable: School
Type

Kruskal-Wallis Test Statistics for ltem 13:

H(2)=6.114, p=0.047 *

Kruskal-Wallis Test Statistics for post hoc analysis of Item 13:
Gaeltacht x Gaelscoil: H(1)=0.032, p=0.858

Gaeltacht x English: H(1)=1.951, p=0.162
Gaelscoil x English: H(1)= 5.385, p=0.020 *
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Item 14: | found it no difficult to understand the computer-generated
voice than | would if natural voices were used.

Ranks

Test Statistics™

School
Type

Mean

Item
14

{ Item 14

English
Total

Gaeltacht
Gaelscoil

25| 103.96 |

| School Type

Chi-Square 6.739
df 2
| Asymp. Sig. 034 |

| a. Kruskal Wallis Test

b. Grouping Variable:

Kruskal-Wallis Test Statistics for Item 14:

H(2)=6.739, p=0.034 *

Kruskal-Wallis Test Statistics for post hoc analysis of Item 14:

Gaeltacht x Gaelscoil: H(1)=0.809, p=0.368
Gaeltacht x English: H(1)=4.209, p=0.040 *
Gaelscoil x English: H(1)=4.001, p=0.045 *

Item 17_1: Give your opinion on the usefulness of the concept of
producing an interactive language learning game in order to practise

Irish.

Ranks

Test Statistics™”

Total

School Mean Item

Type N Rank A
Jltem 17_1  Gaeltacht 86| 115.49 ] Chi-Square 8.379
Gaelscoil 25 102.96 | }] o 2|

English Asymp. Sig. 015

Kruskal-Wallis Test Statistics for Item 17_1:

H(2)=8.379, p=0.015 *

- a. Kruskal Wallis Test
~ | b. Grouping Variable:
| School Type

Kruskal-Wallis Test Statistics for post hoc analysis of Item 17_1:
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Gaeltacht x Gaelscoil: H(1)=0.773, p=0.379
Gaeltacht x English: H(1)= 5.157, p=0.023 *
Gagelscoil x English: H(1)= 5.187, p=0.023 *

Frequency Playing Computer Games

Item 4: The dictionary is helpful as an aid to learning Irish in this game.

Ranks Test Statistics™”
Frequency Item 4 ||
playing computer Chi-Square 8.656 |
games df KY
Never : Asymp. Sig. .034 |1
Seldom | a. Kruskal Wallis Test
Weekly || b. Grouping Variable:
Daily Frequency playing
Total SR

i Vor s B B R
e N B LS s o U B

Kruskal-Wallis Test Statistics for Item 4:

H(3) = 8.656, p=0.034 *

Kruskal-Wallis Test Statistics for post hoc analysis of Item 4:
(Key: 1 = Never; 2 = Seldom; 3 = Weekly; 4 = Daily)

1 x 2: H(1) = 1.970, p=0.160
1 x 3: H(1) = 1.731, p=0.188
1 x 4: H(1) = 0.017, p=0.897
2x 3: H(1) = 7.912, p=0.005 *
2 x 4: H(1) = 0.556, p=0.456
3 x 4: H(1) = 1.198, p=0.274

Item 5: Rate your overall enjoyment of this particular game as a
language learning experience.

| Test Statistics™” :
Frequency playing | Item 5
computer games 7.989

] ltem  Never : 3




133] 136.25

Asymp.
Sig.

046

a. Kruskal Wallis
N Test
kb, Grouping

| Variable: Frequency

playing computer

~ games

Kruskal-Wallis Test Statistics for Item 5:

H(3) = 7.989, p=0.046 *

Kruskal-Wallis Test Statistics for post hoc analysis of Item 5:

(Key: 1 = Never; 2 = Seldom; 3 = Weekly; 4 = Daily)

1x 2: H(1) = 5.785, p=0.016 *
1x 3: H(1) = 0.372, p=0.542
1 x 4: H(1) = 0.439, p—0.508
2 x 3: H(1) = 3.964, p=0.046 *
2 x 4: H(1) = 1.050, p=0.306
3 x 4: H(1) = 0.081, p=0.776

Item 8: The game held my attention.

Ranks

Test Statistics™®

Frequency
playing computer Mean
games N | Rank

Never

Seldom 133| 137.44
Weekly 50| 107.21
Daily 18] 148.58

Total

Kruskal-Wallis Test Statistics for Iltem 8:

H(3) = 15.670, p=0.001 *

Item 8

df

Asymp.
Sig.

Chi-Square

15.670
3
.001

Test

games

a. Kruskal Wallis

b. Grouping
Variable: Frequency
playing computer

Kruskal-Wallis Test Statistics for post hoc analysis of Item 8:
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(Key: 1 = Never; 2 = Seldom; 3 = Weekly; 4 = Daily)

1 x2: H(1)=9.716, p=0.002 *
1x3:H(1)=0.116, p=0.733
1 x 4: H(1) = 5.420, p=0.020 *
2x 3: H(1)=17.764, p=0.005 *
2x4:H(1)=0.607, p=0.436
3 x4: H(1)=4.283, p=0.038 *

Item 10: There is a good balance between enjoyment and language
learning in this game.

Ranks Test Statistics™

Frequency .
playing computer Chi-Square
games ] df

| Item 10 Never ‘ Asymp. Sig.

: Seldom a. Kruskal Wallis Test
Weekly
Daily
Total

€S
RV Y 7T
S

Kruskal-Wallis Test Statistics for Item 10:

H(3) =9.033, p=0.029 *

Kruskal-Wallis Test Statistics for post hoc analysis of item 10:
(Key: 1 = Never; 2 = Seldom; 3 = Weekly; 4 = Daily)

1x2:H(1)=7.329, p=0.007 *
1 x3: H(1) = 0.438, p=0.508
1 x4: H(1) = 0.634, p=0.426
2x 3:H(1)=3.176, p=0.075
2x4: H(1) = 1.635, p=0.201
3 x 4: H(1) = 0.026, p=0.873

Item 12: The synthesised voices were sufficiently clear to make the
speech intelligible.

Ran | ' Test Statistics™”

Frequency | Item 12

playing computer Mean P Chi-Square | 11.365}

j games N | Rank df 3
Jitem 12 Never 49| 108.10 | [ Asymp. Sig. | 010}
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Seldom 133] 139.04 || a. Kruskal Wallis Test
Weekly 50| 110.48 || b- Grouping Variable:
Daily 18| 114.53 || Frequency playing
Total 250 . computer games

Kruskal-Wallis Test Statistics for ltem 12:

H(3) = 11.365, p=0.010 *

Kruskal-Wallis Test Statistics for post hoc analysis of ltem 12:
(Key: 1 = Never; 2 = Seldom; 3 = Weekly; 4 = Daily)

1 x 2: H(1) = 7.532, p=0.006 *
1 x 3: H(1) = 0.049, p=0.825
1 x 4: H(1) = 0.151, p=0.698
2 x 3: H(1) = 6.763, p=0.009 *
2 x 4: H(1) = 2.219, p=0.136
3 x 4: H(1) = 0.035, p=0.852

Level of Understanding of Irish

Item 1: Rate the graphics used in this game on a scale of 1 — 5.

Ranks | Test Statistics™"

Level of ' Item 1 |
understanding of Irish Chi-Square | 17.629 |
1 = Lowest Level 2 df 41
Asymp. Sig. .001 §

| a. Kruskal Wallis Test

| b. Grouping Variable: ||
| Level of
understanding of Irish

TR e AT

|

5 = Highest Level
Total

[ =i S b e s g

Kruskal-Wallis Test Statistics for Iltem 1:

H(4) = 17.629, p=0.001 *

Kruskal-Wallis Test Statistics for post hoc analysis of ltem 1:

(Key: Group 1 = Lowest level - Group 5 = Highest level of understanding of Irish)

1x2: H(1)=1.667, p=0.197
1 x 3: H(1) = 0.005, p=0.944

405



]x4:
1EXeS:

2 x3:
2x4:
2 X5:

3x4:
xS

4%5:

Item 3: | learned some new phrases/words/grammar points as | played

H(1) = 0.355, p=0.551
H(1) = 1.272, p=0.259

H(1) = 4.132, p=0.042 *
H(1) = 2.875, p=0.090
H(1) = 1.934, p=0.164

H(1) = 4.341, p=0.037 *
H(1) = 13.365, p=0.000 *

H(1) = 5.426, p=0.020 *

the game.

Ranks

. Test Statistics™®

Mean |

Item 3 |

3
4
5 = Highest Level
Total

93

Level of
understanding of Irish| N | Rank ||
Item 1 =Lowest Level 2 (10325}
3 B 3 |105.17 |

107.44 } |

Chi-Square
df
Asymp.

1 Sig.

11.978 |
41
og )

a. Kruskal Wallis
Test

. b. Grouping
| Variable: Level of
‘| understanding of

B Irish

Kruskal-Wallis Test Statistics for Item 3:

H(4) = 11. 978, p=0.018 *

Kruskal-Wallis Test Statistics for post hoc analysis of ltem 3:

(Key:

lix2:
1 xi3:
1x4:
15x¢5:

X8
2x4:
2x5;

3x4:

Group 1 = Lowest level - Group 5 = Highest level of understanding of Irish)

H(1) = 0.000, p=1.000
H(1) = 0.496, p=0.481
H(1) = 0.587, p=0.444
H(1) = 0.001, p=0.978

H(1) = 0.620, p=0.431
H(1) = 0.676, p=0.411
H(1) = 0.005, p=0.946

H(1) = 0.010, p=0.919
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3 x 5: H(1) = 5.107, p=0.024 *

4x 5: H(1) = 10.238, p=0.001 *

Item 4: The dictionary is helpful as an aid to learning Irish in this game.

Ranks V

Test Statistics™®

Level of
understanding of Irish

Item 4

Chi-Square

1 = Lowest Level

5 = Highest Level
Total

Kruskal-Wallis Test Statistics for Item 4:

H(4) = 12.280, p=0.015 *

Asymp. Sig.

12.280
df 4
015}

a. Kruskal Wallis Test |

. b. Grouping Variable:

Level of

understanding of Irish |

Kruskal-Wallis Test Statistics for post hoc analysis of item 4:

(Key:

1 %2z
] X3z
1x4:
1'x:5:

2 x.3"
2x4:
2X5:

3 x4:

H(1) = 1.500, p=0.221
H(1) = 0.371, p=0.542
H(1) = 0.663, p=0.416
H(1) = 1.608, p=0.205

H(1) = 0.634, p=0.426
H(1) = 0.142, p=0.707
H(1) = 0.202, p=0.653

H(1) = 0.997, p=0.318

3 x 5: H(1) = 8.678, p=0.003 *

4x5:

H(1) = 6.892, p=0.009 *

Group 1 = Lowest level - Group 5 = Highest level of understanding of Irish)

Item 5: Rate your overall enjoyment of this particular game as a
language learning experience.

Ranks

Test Statistics™® ”

Level of
understanding of Irish

Item

I=TowestTavel . ],

Item 5




':1; | Asymp. 011
| Sig. :
| a. Kruskal Wallis
| Test

|| b. Grouping

| Variable: Level of
' understanding of
Do | Irish

5 = Highest Level

Kruskal-Wallis Test Statistics for Item 5:

H(4) =12.972, p=0.011 *

Kruskal-Wallis Test Statistics for post hoc analysis of Item 5:

(Key: Group 1 = Lowest level - Group 5 = Highest level of understanding of Irish)

1 x 2: H(1) = 3.158, p=0.076
1 x 3: H(1) = 1.242, p=0.265
1 x4: H(1) = 1.516, p=0.218
1 x 5: H(1) = 2.142, p=0.143

2 x 3: H(1) = 7.487, p=0.006 *
2x 4: H(1) = 5.879, p=0.015 *
2x 5: H(1) = 3.807, p=0.051

3 x 4: H(1) = 0.758, p=0.384
3 x 5: H(1) = 4.747, p=0.029 *

4x 5: H(1) = 3.289, p=0.070

Item 10: There is a good balance between enjoyment and language
learning in this game.

Ranks . Test Statistics™”

Level of | Item
understanding of 10
Irish Chi-Square 9.800
1 = Lowest Level df 4

Asymp. Sig. 0441
| a. Kruskal Wallis Test :
| b. Grouping Variable:

Level of understanding

of Irish. .

5 = Highest Level

Total
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Kruskal-Wallis Test Statistics for Item 10:

H(4) = 9.800, p=0.044 *

Kruskal-Wallis Test Statistics for post hoc analysis of item 10:

(Key: Group 1 = Lowest level - Group 5 = Highest level of understanding of Irish)

1x 2: H(1) = 3.333, p=0.068
1x 3: H(1) = 0.021, p=0.884
1 x 4: H(1) = 0.030, p—0.861
1 x 5: H(1) = 0.248, p=0.619

2 x 3: H(1) = 7.015, p=0.008 *
2 x 4: H(1) = 7.775, p=0.005 *
2 x 5: H(1) = 5.821, p=0.016 *

3 x 4: H(1) = 0.009, p=0.925
3 x 5: H(1) = 1.256, p=0.262

4x 5: H(1) = 2.079, p=0.149

Item 13: Did you experience particular difficulties with the dialects that

are used in Digichaint?

Ranks

Test Statistics™® )

Level of
understanding of
Irish

Mean

1 = Lowest Level

5 = Highest Level
Total

250

| b. Grouping Variable: =
| Level of understanding |

Kruskal-Wallis Test Statistics for Item 13:

H(4) =11.969, p=0.018 *

Item

13
Chi-Square 11.969 § |
df 4|
Asymp. Sig. 018 |

a. Kruskal Wallis Test

Kruskal-Wallis Test Statistics for post hoc analysis of ltem 13:

(Key: Group 1 = Lowest level - Group 5 = Highest level of understanding of Irish)

1 x 2: H(1) = 0.667, p=0.414
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1 x 3: H(1) = 2.139, p=0.144
1 x 4: H(1) = 3.138, p=0.076
1x 5: H(1) = 3.913, p=0.048 *

2 x 3: H(1) = 0.449, p=0.503
2x4:H(1)=0.918, p=0.338
2x5:H(1)=1.881, p=0.170

3 x 4: H(1) = 0.707, p=0.400
3x 5: H(1) = 5.219, p=0.022 *

4x5:H(1)=5.276, p=0.022 *

Attitude towards Synthetic Voices

Item 5: Rate your overall enjoyment of this particular game as a
language learning experience.

Test Statistics™’

Ranks

| Attitude towards { Item 5
' synthesised voices N Chi-Square 14.118 ||
Item5 1= hate... 6 df al
’) 47 Asymp. Sig. .007

3 144 a. Kruskal Wallis Test ||
: 4 48 b. Grouping Variable:
] 5 = ..suitable... sk T85ia0 ¢ o owands ;

Kruskal-Wallis Test Statistics for Item 5:
H(4) = 14.118, p=0.007 *
Kruskal-Wallis Test Statistics for post hoc analysis of ltem 5:

(Key: Group 1 = ‘Hate’ synthesised voices; Group 2: ‘Tolerate’ synthesised voices but
prefer human voices; Group 3: ‘neutral’, Group 4: synthesised voices ‘sometimes
suitable’; Group 5: synthesised voices are ‘sometimes more suitable than human
voices’)

1x 2: H(1) = 5.527, p=0.019 *
1 x 3: H(1) = 5.258, p=0.022 *
1 x 4: H(1) = 8.317, p=0.004 *
1x 5: H(1)=2.912, p=0.088
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2 x 3: H(1) = 0.108, p=0.743
2 x 4: H(1) = 5.359, p=0.021 *
2 x 5: H(1) = 3.092, p=0.079

3 x 4: H(1) = 4.826, p=0.028 *
3 x 5: H(1) = 2.194, p=0.139

4x 5: H(1) = 1.060, p=0.303

Item 9: | was more focused on the plot of the game than | was on the
language being used.

Ranks | Test Statistics™® ||
Attitude towards | ltem 9 |
synthesised voices 1] Chi-Square 11.963
1 = ...hate... 1]df 4 |

Asymp. Sig. 018
. a. Kruskal Wallis Test
| b. Grouping Variable:
- Attitude towards
‘ nthesised voices

5 = ...suitable...
Total

Kruskal-Wallis Test Statistics for item 9:
H(4)=11.963, p=0.018 *
Kruskal-Wallis Test Statistics for post hoc analysis of Item 9:

(Key: Group 1 = ‘Hate’ synthesised voices; Group 2: ‘Tolerate’ synthesised voices but
prefer human voices; Group 3: ‘neutral’, Group 4: synthesised voices ‘sometimes
suitable’; Group 5: synthesised voices are ‘sometimes more suitable than human
voices’)

1 x 2: H(1) = 3.780, p=0.052
1x 3: H(1) = 1.310, p=0.252
1 x 4: H(1) = 3.824, p=0.051
1 x 5: H(1) = 0.150, p=0.699

2 x 3: H(1) = 4.484, p=0.034 *
2 x 4: H(1) = 0.532, p=0.466
2 x 5: H(1) = 1.126, p=0.289

3 x 4: H(1) = 6.902, p=0.009 *
3 x 5: H(1) = 0.266, p=0.606

4 x 5: H(1) = 1.252, p=0.263
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Item 10: There is a good balance between enjoyment and language
learning in this game.

Ranks ‘

Attitude
towards
synthesised Me
; voices N | Ran
] ltem 10 1= hate... 6 Sig.

a. Kruskal Wallis Test
| b. Grouping Variable: |

5 = ...suitable... 5
Total 250

Kruskal-Wallis Test Statistics for ltem 10:
H(4) = 9.916, p=0.042 *
Kruskal-Wallis Test Statistics for post hoc analysis of item 10:

(Key: Group 1 = ‘Hate’ synthesised voices; Group 2: ‘Tolerate’ synthesised voices but
prefer human voices; Group 3: ‘neutral’, Group 4: synthesised voices ‘sometimes
suitable’; Group 5: synthesised voices are ‘sometimes more suitable than human
voices’)

1 x 2: H(1) = 0.270, p=0.603
1 x 3: H(1) = 2.005, p=0.157
1 x 4: H(1) = 3.584, p=0.058
1 x 5: H(1) = 1.354, p=0.245

2x 3: H(1) =3.597, p=0.058
2x4: H(1)=6.897, p=0.009 *
2x 5: H(1) = 1.624, p=0.203

3 x 4: H(1) = 2.057, p=0.152
3 x 5: H(1) = 0.801, p=0.371

4x 5: H(1) = 0.220, p=0.639
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Item 12: The synthesised voices were sufficiently clear to make the
speech intelligible.

Ranks Test Statistics™"

Attitude towards Mean Item
synthesised voices N Rank |1 12 B
| Item 12 1= hate... | Chi-Square 12952 @
Har af
] Asymp. Sig. o012}

- a. Kruskal Wallis Test
| b. Grouping Variable:
- Attitude towards

4| synthesised voices

5 = ...suitable...
Total

Kruskal-Wallis Test Statistics for Item 12:
H(4) =12.952, p=0.012 *
Kruskal-Wallis Test Statistics for post hoc analysis of ltem 12:

(Key: Group 1 = ‘Hate’ synthesised voices; Group 2: ‘Tolerate’ synthesised voices but
prefer human voices; Group 3: ‘neutral’, Group 4: synthesised voices ‘sometimes
suitable’; Group 5: synthesised voices are ‘sometimes more suitable than human
voices’)

1 x 2: H(1) = 3.452, p=0.063

1 x 3: H(1) = 4.091, p=0.043 *
1 x 4: H(1) = 6.336, p=0.012 *
1 x 5: H(1) = 5.456, p=0.019 *

2 x 3: H(1) = 0.018, p=0.672
2 x 4: H(1) = 3.908, p=0.048 *
2 x 5: H(1) =3.910, p=0.048 *

3 x 4: H(1) = 4.154, p=0.042 *
3 x 5: H(1) = 3.660, p=0.056

4 x 5: H(1) = 1.290, p=0.256
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Item 15: In general, | think that computer-generated voices give a better
atmosphere to computer games than natural voices do.

Ranks

Test

tatistics™”

Attitude towards
synthesised voices

Item

1 = ...hate...

5 = ...suitable...
Total

i as LI ot U L9

Kruskal-Wallis Test Statistics for Iltem 15:

H(4)=11.785, p—0.019 *

. Grouping Variable:

Attitude towards

Kruskal-Waliis Test Statistics for post hoc analysis of ltem 15:

(Key: Group 1 = ‘Hate’ synthesised voices; Group 2: ‘“Tolerate’ synthesised voices but
prefer human voices; Group 3: ‘neutral’, Group 4: synthesised voices ‘sometimes
suitable’; Group 5: synthesised voices are ‘sometimes more suitable than human

voices’)

1 x 2: H(1) = 0.104, p=0.747
1x3: H(1)=0.137, p=0.711
1 x 4: H(1) = 0.553, p=0.457
1 x 5: H(1) = 2.870, p=0.090

2 x 3: H(1) = 0.002, p=0.966
2 x 4: H(1) = 4.223, p=0.040 *
2 x 5: H(1) = 5.470, p=0.019 *

3 x 4: H(1) = 6.259, p=0.012 *
3 x 5: H(1) = 5.436, p=0.020 *
4x 5: H(1) = 2.837, p=0.092
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Item 17_1: Give your opinion on the usefulness of the concept of
producing an interactive language learning game in order to practise

Irish.

Ranks i Test Statistics™”
Attitude towards Item
synthesised 171 =
voices N 1| Chi-Square 16.076 |
1 =..hate... 6 {]df
2 47 I Asymp. sig. 003 |
3 144 | a Kruskal Wallis Test
4 48 { b. Grouping Variable:
5= ...suitable... 5 ) Attitude towards
Total 250 thesised voices

Kruskal-Wallis Test Statistics for Iltem 17_1:

H(4) = 16.076, p=0.003 *

Kruskal-Wallis Test Statistics for post hoc analysis of ltem 17_1:

(Key: Group 1 = ‘Hate’ synthesised voices; Group 2: ‘Tolerate’ synthesised voices but

prefer human voices; Group 3: ‘neutral’, Group 4: synthesised voices ‘sometimes
suitable’; Group 5: synthesised voices are ‘sometimes more suitable than human

voices’)

1x 2: H(1) = 5.730, p=0.017 *
1 x 3: H(1) = 7.633, p=0.006 *
1 x 4: H(1) = 9.655, p=0.002 *
1x 5: H(1) = 4.287, p=0.038 *

2 x 3: H(1) = 0.525, p=0.469
2 x 4: H(1) = 5.661, p=0.017 *
2 x 5: H(1) = 1.750, p=0.186

3 x 4: H(1) = 5.374, p=0.020 *
3 x 5: H(1) = 1.471, p=0.225

4x 5: H(1) = 0.205, p=0.651
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Item 17_2: Give your opinion on the quality of the synthesised voices: to
what extent do you think the voices are adequate for the type of game

presented here?

Test Statistics™”

Rahks

Attitude towards Mean

synthesised voices | N | Rank }f Itemil? 2

I'= . Rate.. | Chi-Square 10.693
] df 4
1] Asymp. Sig. .030

| a. Kruskal Wallis Test
| b. Grouping Variable:
s Attitude towards
synthesised voices

5 = ...suitable... S
Total 250

R 5 NN, . . - -
e e S PR RN Y o N B D G

Kruskal-Wallis Test Statistics for Item 17_2:
H(4) = 10.693, p=0.030 *
Kruskal-Wallis Test Statistics for post hoc analysis of Item 17_2:

(Key: Group | = ‘Hate’ synthesised voices; Group 2: ‘Tolerate’ synthesised voices but
prefer human voices; Group 3: ‘neutral’, Group 4: synthesised voices ‘sometimes
suitable’; Group 5: synthesised voices are ‘sometimes more suitable than human

voices’)

1x2:H(1)=1.732, p=0.188
1x3:H(1)=1.126, p=0.289
1 x4: H(1)=4.157, p=0.041 *
1 x5¢H(1) = 3595, p=0.U58

2 x 3: H(1) = 0.097, p=0.755
2 x 4: H(1) = 3.413, p=0.065
2 x 5: H(1) = 3.335, p=0.068

3 x 4: H(1) = 5.554, p=0.018 *
3 x 5: H(1) = 3.369, p=0.066

4x5:H(1)=1.173, p=0.279
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F2: Kruskal-Wallis Test Results: Failte go TCD

Expansion of Kruskal-Wallis Test for items showing significance in Table 5.11,
Chapter 5. These expansions show the mean rank scores and the direction of the
differences. They also give the post hoc analysis showing where the difference lies.

Gender

Item 10: There is a good balance between enjoyment and language

learning in this game.

Ranks | Test Statistics™®
Item
Gender 10
Female {]Chi-Square | 4.107
Male df 1
Total Asymp. .043
; - Sig.
a. Kruskal Wallis

Test
b. Grouping
- Varniable: Gender

Kruskal-Wallis Test Statistics for Item 10:

H(1)=4.107, p=0.043 *

Between-School Differences

Item 5: Would you enjoy using this type of activity to develop your aural
Irish skills, should be available and easily accessible in your school?

Test Statistics™®
Item5S }
7.138 ||

Ranks

§ School Type N
{1tem Gaeltacht 85

i |

g - Gaelscoil 23




English . Kruskal Wallis Test
Total . Grouping Variable:
T 7 chool Type

Kruskal-Wallis Test Statistics for Item 5:

H(2)=7.138, p=0.028 *

Kruskal-Wallis Test Statistics for post hoc analysis of item 5:
Gaeltacht x Gaelscoil: H(1)=1.450, p=0.228

Gaeltacht x English: H(1)=3.802, p=0.051

Gaclscoil x English: H(1)= 4.633, p=0.031*

Item 7: Do you think this type of activity would make the learning of Irish

more attractive?

Test Statistics™
Item 7 |
] Chi-Square 10.625 |
] dr 2|
] Asymp. Sig. .005 |

a. Kruskal Wallis Test |
b. Grouping Variable:
" | School Type

Ranks

School Type N | Rank
Gaeltacht
Gaelscoil
English
Total

Kruskal-Wallis Test Statistics for Item 7:

H(2)=10.625, p=0.005 *

Kruskal-Wallis Test Statistics for post hoc analysis of ltem 7:
Gaeltacht x Gaelscoil: H(1)=4.148, p=0.042 *

Gaeltacht x English: H(1)=2.851, p=0.091
Gaelscoil x English: H(1)= 9.568, p=0.002 *
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Item 8: The overall standard of Irish used is at about the right level for
me.

Test Statistics™”

Ranks
ah Item 8 |
School Type | N | Rank | Chi-Square 8.059
Gaeltacht ] df 2}
G o] {| Asymp. Sig. 018 ||
English | a. Kruskal Wallis Test ||
|| b. Grouping Variable:

Total |
s T School Type

Kruskal-Wallis Test Statistics for item 8:

H(2)=8.059, p=0.018 *

Kruskal-Wallis Test Statistics for post hoc analysis of ltem 8:
Gaeltacht x Gaelscoil: H(1)=6.231, p=0.013 *

Gaeltacht x English: H(1)=0.300, p=0.584
Gaelscoil x English: H(1)= 7.816, p=0.005 *

Item 9: The synthesised voices were sufficiently clear to make the

speech intelligible.

Ranks

Test Statistics™”
Item 9
School Type | N | Rank Chi-Square 9.589
Gaeltacht df 21
Gaelscoil Asymp. Sig. .008 ||

| a. Kruskal Wallis Test
* b. Grouping Variable:
| School Type

English
Total

Kruskal-Wallis Test Statistics for Item 9:

H(2)=9.589, p=0.008 *

Kruskal-Wallis Test Statistics for post hoc analysis of ltem 9:
Gaeltacht x Gaelscoil: H(1)=0.783, p=0.376

Gaeltacht x English: H(1)=9.889, p=0.002 *
Gaelscoil x English: H(1)= 0.532, p=0.466
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Item 10: Did you experience particular difficulties with the dialects that
are used in the video?

Test Statistics™” 3
v. Item 10
| Chi-Square 11.224
|df
| Asymp. Sig. .004

~ a. Kruskal Wallis Test
- b. Grouping Variable:
| School Type

Ranks
School Mean
Type N Rank
Gaeltacht
Gaelscoil
English
Total

Kruskal-Wallis Test Statistics for Item 10:

H(2)=11.224, p=0.004 *

Kruskal-Wallis Test Statistics for post hoc analysis of Item 10:
Gaeltacht x Gaelscoil: H(1)=0.208, p=0.649

Gaeltacht x English: H(1)=10.702, p=0.001 *
Gaelscoil x English: H(1)= 2.168, p=0.141

Item 11_3: Please give your opinion on the attractiveness of the voices.

Ranks V Test Statistics™”

Item
School Type N | Rank 113 B
Item 11_3 Gacltacht 85| 144.35 i Chi-Square 8.762 |
Gaelscoil 23| 124.98 jf1df 9)
English | Asymp. 013 )
| Sig.

Total
— ] Wallis Test

b. Grouping Variable:
School Type

Kruskal-Wallis Test Statistics for Iltem 11_3:
H(2)=8.762, p=0.013 *

Kruskal-Wallis Test Statistics for post hoc analysis of Iitem 11_3:
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Gaeltacht x Gaelscoil: H(1)=1.288, p=0.256
Gaeltacht x English: H(1)=8.833, p=0.003 *
Gaclscoil x English: H(1)= 0.277, p=0.599

Frequency Playing Computer Games

Item 1: How would you describe your judgment of the background
setting and the graphics in the video?

Ranks : || Test Statistics™®
Frequency Item 1

Playing Chi-Square | 9.928 ||
Computer Games df 3B

Never |1 Asymp. Sig. .019
Seldom | a. Kruskal Wallis Test ||
Weekly b. Grouping Variable:
Daily Frequency Playing

| Comp uter e AN

Total

Kruskal-Wallis Test Statistics for item 1:

H(3) = 9.928, p=0.019 *

Kruskal-Wallis Test Statistics for post hoc analysis of Item 1:
(Key: 1 = Never; 2 = Seldom; 3 = Weekly; 4 = Daily)

1 x2: H(1) =9.014, p=0.003 *

1 x 3: H(1) = 2.230, p=0.135

1 x 4: H(1) = 0.372, p=0.542

2x3: H(1) = 1.492, p=0.222

2 x 4: H(1) = 1.780, p=0.182
3 x 4: H(1) = 0.220, p=0.639
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Item 11_1: Please give your opinion on the usefulness of producing
graphics with synthesised voices in order to practise aural

comprehension.

Ranks

Test Statistics™”

Frequency B
Playing Mean ||
Computer Games | N | Rank |

Item
1151

Never
Seldom
Weekly
Daily

Total

45
20

133.58 |
117.25|

Kruskal-Wallis Test Statistics for Item 11_1:

H(3) = 12.418, p=0.006 *

| df 3B

Chi-Square | 12.418 ]}

Asymp. 006 |
Sig. :

' Variable: Frequency

a. Kruskal Wallis
Test
b. Grouping

Playing Computer
Games

Kruskal-Wallis Test Statistics for post hoc analysis of Item 11_1:

(Key: 1 = Never; 2 = Seldom; 3 = Weekly; 4 = Daily)

1 x 2: H(1) = 10.409, p=0.001 *
1 x 3: H(1) = 7.473, p=0.006 *
1 x4:H(1)=1.786, p=0.181

2 x 3: H(1) = 0.039, p=0.844
2x4:H(1)=1.416, p=0.234
3x4:H(1)=1.391, p=0.238
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Level of Understanding of Irish

Item 1: How would you describe your judgment of the background
setting and the graphics in the video?

Ranks o e Sl o
Favel of . Test Statistics™”
Understanding Mean Item 1
of Irish N | Rank Chi-Square 18919 @
1=LowestLevel 3 89.83 ||df 4p

6 30.83 [lAsymp. Sig. .001
47113594 }| 2 Kruskal Wallis Test
108 | 137.77 [ b- Grouping Variable:
| Level of Understanding
of Irish s

5 = Highest Level | 88]115.40
Total 252

Kruskal-Wallis Test Statistics for Item 1:

H(4) = 18.919, p=0.001 *

Kruskal-Wallis Test Statistics for post hoc analysis of ltem 1:
(Key: Group 1 = Lowest level - Group 5 = Highest level of understanding of Irish)
1 x 2: H(1) = 2.667, p=0.102

1x3: H(1) = 1.476, p=0.226

1x4: H(1) = 1.562, p=0.211

1 x 5: H(1) =0.353, p=0.552

2 x 3: H(1) = 12.515, p=0.000 *

2 x4: H(1) = 12.848, p=0.000 *

2x 5: H(1) =9.277, p=0.002 *

3 x 4: H(1) = 0.044, p=0.835
3 x 5: H(1) = 2.944, p=0.086

4x 5: H(1)=5.234, p=0.022 *
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Item 3: To what extent do the movements of the characters add
credibility and clarity to the conversational exchanges?

Test Statistics™”
Item 3 ||
Chi-Square | 12.201 |
] df 4
Asymp. 016}
| Sig. '
| a. Kruskal Wallis Test
| b. Grouping Variable:
| Level of
| Understanding of
e [rish

Level of
Understanding of Mean
Irish N
1 = Lowest Level

3

47

5 = Highest Level
Total

88

Kruskal-Wallis Test Statistics for Item 3:

H(4) = 12.201, p=0.016 *

Kruskal-Wallis Test Statistics for post hoc analysis of Item 3:
(Key: Group | = Lowest level - Group 5 = Highest level of understanding of Irish)
1 x2: H(1) = 3.920, p=0.048 *

1 x 3: H(1) = 0.079, p=0.778

1 x 4: H(1) = 0.304, p=0.581

1 x 5: H(1) = 0.002, p=0.962

2x 3: H(1) =3.281, p=0.070

2x4:H(1)=9.702, p=0.002 *

2x5:H(1)=5.282, p=0.022 *

3 x 4: H(1) = 3.919, p=0.048 *
3 x 5: H(1) = 0.308, p=0.579

4 x 5: H(1) = 3.170, p=0.075

Item 7: Do you think this type of activity would make the learning of Irish

more attractive?
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Level of Chi-Square | 10.958

Understanding of Mean df N

Irish N | Rank H] Asymp. Sig. 027 |
Item 7 1= Lowest Level 31 159.50 a. Kruskal Wallis

2 6| 6033 || Test

3 47| 134.87 || b- Grouping Variable: | i

Level of
- Understanding of
SRR

4 108 | 133.85
5 = Highest Level | 88| 116.40 |}
Total 252

Kruskal-Wallis Test Statistics for Item 7:

H(4) = 10.958, p=0.027 *

Kruskal-Wallis Test Statistics for post hoc analysis of ltem 7:

(Key: Group 1 = Lowest level - Group 5 = Highest level of understanding of Irish)

1 x 2: H(1) = 3.630, p=0.057
1 x 3: H(1) = 0.387, p=0.534
1 x 4: H(1) = 0.422, p=0.516
1x 5: H(1) = 1.316, p=0.251

2 x 3: H(1) = 6.446, p=0.011 *
2 x 4: H(1) = 6.697, p=0.010 *
2x 5: H(1) = 4.313, p=0.038 *

3 x 4: H(1) = 0.007, p=0.933
3x5:H(1)=2.497, p=0.114

4x 5: H(1) = 3.394, p=0.065

Item 8: The overall standard of the Irish used is at about the right level

for me.

Ranks Test Statistics™”
Level of : ,t Item 8
Understanding of 1% 13.471
Irish ; }_»f 4
Item 8 1=Lowest Level i . 009 ||

2
1
3
g
it
4




5 = Highest Level

88| 134.38

252

Understanding of

Kruskal-Wallis Test Statistics for Item 8:

H(4) = 13.471, p=0.009 *

~ Variable: Level of

' Irish

Kruskal-Wallis Test Statistics for post hoc analysis of Item 8:

(Key:

%
1x3:
1x4:
X5

ek
2x4:
2 Xuy:

3x4:
3ix.5:

A% "

Group 1 = Lowest level - Group 5 = Highest level of understanding of Irish)

H(1) = 4.613, p=0.032 *
H(1) = 7.851, p=0.005 *
H(1) = 9.626, p=0.002 *
H(1) = 7.061, p=0.008 *

H(1) = 1.691, p=0.194
H(1) = 3.922, p=0.048 *
H(1) = 2.720, p=0.099

H(1) = 1.474, p=0.225
H(1) = 1.822, p=0.177

H(1) = 0.334, p=0.563

Item 9: The synthesised voices were sufficiently clear to make the

speech intelligible.

Ranks

Test Statistics™’

Level of
Understanding of
Irish

Mean
Rank

Item 9

Chi-Square | 17.688 }
df 4

1 = Lowest Level

5 = Highest Level
Total
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Asymp. Sig. .001
a. Kruskal Wallis
Test

b. Grouping Variable: |
| Level of

' Understanding of
'} Irish




Kruskal-Wallis Test Statistics for Item 9:

H(4) = 17.688, p=0.001 *

Kruskal-Wallis Test Statistics for post hoc analysis of ltem 9:

(Key:

1x2:
1x3
1x4:
1x5:

2 x43:
2x4:
2% 5:

3x4:
3 x:5:

4 x5;

Item 10: Did you experience particular difficulties with the dialects that

Group 1 = Lowest level - Group S = Highest level of understanding of Irish)

H(1) = 0.990, p=0.320

- H(1) = 0.000, p=0.983

H(1) = 0.410, p=0.522
H(1) = 0.659, p=0.417

H(1) = 3.497, p=0.061
H(1) = 8.897, p=0.003 *
H(1) = 10.767, p=0.001 *

H(1) = 5.286, p=0.021 *
H(1) = 8.508, p=0.004 *

H(1) = 0.796, p=0.372

are used in the video?

Ranks

Test Statistics™”

Level of
Understanding of
Irish

Mean

Item 1= Lowest Level

5 = Highest Level
Total

R R e S S R T T PR N B e Y
N o
-

252

| a. Kruskal Wallis Test

. Level of
" Understanding

Kruskal-Wallis Test Statistics for Item 10:

H(4) = 25.683, p=0.000 *

Item 10
Chi-Square | 25.683
df 4
Asymp. .000
Sig.

b. Grouping Variable:

of Irish

Kruskal-Wallis Test Statistics for post hoc analysis of Item 10:

(Key: Group 1 = Lowest level - Group S = Highest level of understanding of Irish)
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1 x 2: H(1) =2.305, p=0.129

1 x3: H(1) =4.160, p=0.041 *
1 x 4: H(1) = 6.005, p=0.014 *
1 x 5: H(1) = 7.843, p=0.005 *

2x3: H(1)=0.979, p=0.323
2x4: H(1)=4.329, p=0.037 *
2x 5: H(1) = 7.836, p=0.005 *

3 x 4: H(1) = 5.530, p=0.019 *
3 x 5: H(1) = 14.957, p=0.000 *

4 x 5: H(1) = 3.845, p—0.050

Item 11_1: Please give your opinion on the usefulness of producing
graphics with synthesised voices in order to practice aural

comprehension.

Ranks | Test Statistics™”
Level of Item
Understanding of 111 B
Irish ' ) 9971
1 = Lowest Level

5 = Highest Level
Total

; ] Understanding of Irish ‘,

Kruskal-Wallis Test Statistics for Item 11_1:

H(4) =9.971, p=0.041 *

Kruskal-Wallis Test Statistics for post hoc analysis of item 11_1:

(Key: Group 1 = Lowest level - Group 5 = Highest level of understanding of Irish)
1 x 2: H(1) = 2.123, p=0.145

1 x 3: H(1) = 0.000, p=1.000

1 x 4: H(1) = 0.002, p=0.967

1 x5:H(1)=0.127, p=0.722

2x3:H(1)=6.425, p=0.011 *
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2 x 4: H(1) = 7.432, p=0.006 *
2 x 5: H(1) = 6.721, p=0.010 *

3 x 4: H(1) = 0.046, p—0.831
3 x 5: H(1) = 1.660, p=0.198

4x5:H(1)=2.243, p=0.134

Item 11_3: Please give you opinion on the attractiveness of the voices.

R SRR R R R AR T A NP RIS

Ranks

Level of
Understanding of Mean
Irish N | Rank FH Chi- 11.171 |
Item 11 3 1=LowestLevel | 3| 63.33 }}]| Square
6 df 4|
1] Asymp. Sig. 025}

Kruskal-Wallis Test Statistics for Item 11_3:

H(4) = 11.171, p=0.025 *

| a. Kruskal Wallis Test
1 b. Grouping Variable:
Level of Understanding
4| of Irish :

Kruskal-Wallis Test Statistics for post hoc analysis of ltem 11_3:

(Key:

122
1x3;
1x4:
| b &%

2x3:
2x.4:
2 %.5:

3x4:
3xS:

4x5:

Group 1 = Lowest level - Group 5 = Highest level of understanding of Irish)

H(1) = 0.720, p=0.396
H(1) = 1.187, p=0.276
H(1) = 2.622, p=0.105
H(1) = 3.201, p=0.074

H(1) = 0.159, p=0.690
H(1) = 1.895, p=0.169
H(1) = 2.627, p=0.105

H(1) = 3.809, p=0.051
H(1) = 6.719, p=0.010 *

H(1) = 1.041, p=0.308
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Attitude towards Synthetic Voices

Item 1: How would you describe your judgment of the background
setting and the graphics in the video?

' Ranks Test Statistics™”

g Attitude to , Item1 [
? synthesised voices Mean ‘ Chi-Square 11.353

i (pre-game) N Rank fHdf 4 B
{item1 1 13 77.81 [{] Asymp. Sig. 023

8 .

; 2 42 119.05 i a. Kruskal Wallis Test
2 3 129 127.37 ll b. Grouping Variable: i
3 4 63 135.50 }| Attitude to synthesised

i W

5 5| 179.90

i Total 252

Kruskal-Wallis Test Statistics for Item 1:
H(4) = 11.353, p=0.023 *
Kruskal-Wallis Test Statistics for post hoc analysis of ltem 1:

(Key: Group | = ‘Hate’ synthesised voices; Group 2: ‘Tolerate’ synthesised voices but
prefer human voices; Group 3: ‘neutral’, Group 4: synthesised voices ‘sometimes
suitable’; Group 5: synthesised voices are ‘sometimes more suitable than human
voices’)

1 x 2: H(1) = 4.148, p=0.042 *
1 x 3: H(1) = 6.391, p=0.011 *
1 x 4: H(1) = 6.969, p=0.008 *
1x 5: H(1) = 4.282, p=0.039 *

2 x 3: H(1) = 0.476, p=0.490
2 x 4: H(1) = 1.637, p=0.201
2 x 5: H(1) = 3.857, p=0.050

3 x 4: H(1) = 0.640, p=0.424
3 x 5: H(1) = 2.818, p=0.093

4x5:H(1)=2.311, p=0.128
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Item 3: To what extent do the movements of the characters add

credibility and clarity to the conversational exchanges?

Ranks 5 Test Statistics™”
Attitude to synthesised Item3 |
voices (pre-game) | Chi-Square 16.570 |\
|ar a|

Asymp. Sig. .002
' a. Kruskal Wallis Test ;

| b. Grouping Variable:
. Attitude to synthesised
| voices (pre-game) |

Kruskal-Wallis Test Statistics for Item 3:
H(4) = 16.570, p=0.002 *
Kruskal-Wallis Test Statistics for post hoc analysis of Item 3:

(Key: Group 1 = ‘Hate’ synthesised voices; Group 2: “Tolerate’ synthesised voices but
prefer human voices; Group 3: ‘neutral’, Group 4: synthesised voices ‘sometimes
suitable’; Group 5: synthesised voices are ‘sometimes more suitable than human
voices’)

1 x 2: H(1) = 0.965, p—0.326
1 x 3: H(1) = 2.803, p=0.094
1x 4: H(1) = 6.197, p=0.013 *
1x 5: H(1) = 5.120, p=0.024 *

2 x 3: H(1) = 1.310, p=0.252
2 x 4: H(1) = 7.600, p=0.006 *
2 x 5: H(1) = 5.587, p=0.018 *

3 x4: H(1) = 5.802, p=0.016 *
3 x 5: H(1)=4.816, p=0.028 *

4x5:H(1)=2.197, p=0.138

Item 4: To what extent do you think this type of learning platform (the
voices, the graphics and the setting) would help in practicing listening
comprehension?

Test Statistics
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Attitude to
synthesised Chi-Square
voices (pre- Mean I df

game) N | Rank I Asymp.

1 13 66.12 ] Sig.
2 42| 105.81 | a. Kruskal Wallis Test ||
3 129 127.84 . Grouping Variable:
4

5

631 143.B1 ttitude to synthesised
s| 20450 oices (pre-game)

Total 25¢

Kruskal-Wallis Test Statistics for Item 4:
H(4) = 24.368, p=0.000 *
Kruskal-Wallis Test Statistics for post hoc analysis of Item 4:

(Key: Group 1 = ‘Hate’ synthesised voices; Group 2: ‘Tolerate’ synthesised voices but
prefer human voices; Group 3: ‘neutral’, Group 4: synthesised voices ‘sometimes
suitable’; Group 5: synthesised voices are ‘sometimes more suitable than human
voices’)

1 x 2: H(1) = 4.415, p=0.036 *
1 x 3: H(1) = 9.879, p=0.002 *
1 x 4: H(1) = 11.666, p=0.001 *
1x 5: H(1) = 8.313, p=0.004 *

2 x 3: H(1) = 3.416, p=0.065
2 x 4: H(1) = 8.153, p=0.004 *
2 x 5: H(1) = 9.201, p=0.002 *

3 x 4: H(1) = 2.456, p=0.117
3 x 5: H(1) = 6.220, p=0.013 *

4x 5:H(1) = 4.086, p=0.043 *

Item 5: Would you enjoy using this type of activity to develop your aural

Irish skills, should be available and easily accessible in your school?

Test Statistics™®

Attitude to Item 5

synthesised voices Mean [ Chi-Square 23.513

(pre-game) N Rank §{}df 4
Item5 1 [[] Asymp. Sig. .000




2 22| 106.83 H 2. Kruskal Wallis Test
3 129| 122.75 }| b- Grouping Variable:
4 63| 150.75 Attitude to synthesised
5 s| 199.50

Total 252

Kruskal-Wallis Test Statistics for Item 5:
H(4) = 23.513, p=0.000 *
Kruskal-Wallis Test Statistics for post hoc analysis of Item 5:

(Key: Group 1 = ‘Hate’ synthesised voices; Group 2: ‘Tolerate’ synthesised voices but
prefer human voices; Group 3: ‘neutral’, Group 4: synthesised voices ‘sometimes
suitable’; Group 5: synthesised voices are ‘sometimes more suitable than human
voices’)

1 x 2: H(1) = 2.032, p=0.154

1 x 3: H(1) = 4.590, p=0.032 *
1 x 4: H(1) = 9.656, p=0.002 *
1x 5: H(1) = 7.574, p=0.006 *

2 x 3: H(1) = 1.720, p=0.190
2 x 4: H(1) = 11.434, p=0.001 *
2 x 5: H(1) = 8.639, p=0.003 *

3 x 4: H(1) = 7.328, p=0.007 *
3 x 5: H(1) = 6.036, p=0.014 *

4x 5:H(1) = 2.817, p=0.093

Item 6: How motivating do you find this type of activity?

Ranks 7 Test Statistics™®
Attitude to Item 6

synthesised voices Chi-Square 31.689
(pre-game) df 4
1 Asymp. Sig. .000

a. Kruskal Wallis Test
' b. Grouping Variable:
| Attitude to synthesised
| voices (pre-game)
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Kruskal-Wallis Test Statistics for Item 6:

H(4) =31.689, p=0.000 *

Kruskal-Wallis Test Statistics for post hoc analysis of ltem 6:

(Key:

1. 2:
Joxi3:
1x4:
1% S¢

2 X3
2x4:
2 X 9¢

3x4:
35X 5

g%y

Group 1 = ‘Hate’ synthesised voices; Group 2: ‘Tolerate’ synthesised voices but
prefer human voices; Group 3: ‘neutral’, Group 4: synthesised voices ‘sometimes
suitable’; Group 5: synthesised voices are ‘sometimes more suitable than human
voices’)

H(1) = 12.524, p=0.000 *
H(1) = 14.274, p=0.000 *
H(1) = 18.057, p=0.000 *
H(1) = 10.738, p=0.001 *

H(1) = 0.076, p=0.783
H(1) = 3.888, p=0.049 *
H(1) = 11.643, p=0.001 *

H(1) = 3.861, p=0.049 *
H(1) = 10.310, p=0.001 *

H(1) = 8.639, p=0.003 *

Item 7: Do you think this type of activity would make the learning of Irish

more attractive?

Test Statistics™

Attitude to Item 7

synthesised voices Mean | H Chi-Square 29 489
} (pre-game) N Rank | |} df 4
item7 1 13 76.65 | || Asymp. Sig. .000 |

2 42| 108.10} | a. Kruskal Wallis Test

3 129| 121.12 || b. Grouping Variable:

4 63| 153.85F | Attitude to synthesised

5 5| 208.0ofNCices (e gmme)

Total 252 | ‘

Kruskal-Wallis Test Statistics for Item 7:
H(4) =29.489, p=0.000 *

Kruskal-Wallis Test Statistics for post hoc analysis of Iitem 7:
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(Key: Group 1 = ‘Hate’ synthesised voices; Group 2: ‘Tolerate’ synthesised voices but
prefer human voices; Group 3: ‘neutral’, Group 4: synthesised voices ‘sometimes
suitable’; Group 5: synthesised voices are ‘sometimes more suitable than human
voices’)

1x2:
15%3:
1x4:
1x5:

2xi3:
2x4:
20X

3 xi4:
3% S;

4x5:

Item 9: The synthesised voices were sufficiently clear to make the

H(1) = 3.358, p=0.067
H(1) = 5.904, p=0.015 *
H(1) = 11.694, p=0.001 *
H(1) = 7.601, p=0.006 *

H(1) = 1.304, p=0.253
H(1) = 12.800, p=0.000 *
H(1) = 10.549, p—=0.001 *

H(1) = 10.666, p=0.001 *
H(1) = 7.979, p=0.005 *

H(1) =3.041, p=0.081 *

speech intelligible.

Ranks

Test Statistics™®

Attitude to
synthesised voices Mean
] (pre-game) N Rank
[item9 1 13| 108.92
" 2 42| 109.40
3 129 121.74
4 63| 145.63
5 5| 197.70
Total 252

Item 9
Chi-Square 14.174
) 4
Asymp. Sig. .007

Kruskal-Wallis Test Statistics for Item 9:

H(4) = 14.174, p=0.007 *

a. Kruskal Wallis Test
i b. Grouping Variable:

- Attitude to synthesised
. voices (pre-

Kruskal-Wallis Test Statistics for post hoc analysis of ltem 9:

(Key: Group 1 = ‘Hate’ synthesised voices; Group 2: ‘Tolerate’ synthesised voices but
prefer human voices; Group 3: ‘neutral’, Group 4: synthesised voices ‘sometimes
suitable’; Group 5: synthesised voices are ‘sometimes more suitable than human
voices’)

1x 2: H(1) = 0.007, p=0.933
1 x 3: H(1) = 0.419, p=0.518
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1 x 4:
xS

29X 3¢
2x4:
2x.5;

x4
3x5:

4x5:

H(1) = 3.146, p=0.076
H(1) = 4.573, p=0.032 *

H(1) = 1.077, p=0.299
H(1) = 7.248, p=0.007 *
H(1) = 5.682, p=0.017 *

H(1) = 5.397, p=0.020 *
H(1) = 5.186, p=0.023 *

H(1) = 4.744, p=0.029 *

Item 10: There is a good balance between enjoyment and language

learning in this game.

Test Statistics™

Attitude to Item 10

synthesised voices Mean || Chi-Square 11.846
§ (pre-game) N Rank |} df 4
Hitem10 1 13| 95.42 Jl| Asymp. Sig. 019
: 2 42| 130.42 }| a. Kruskal Wallis Test

3 1291 119.91 I b. Grouping Variable:

4 63| 137.65 |l Attitude to synthesised

5 5| 203.30 JVoices (pre-game)

Total 252 e

Kruskal-Wallis Test Statistics for Item 10:

H(4) = 11.846, p=0.019 *

Kruskal-Wallis Test Statistics for post hoc analysis of item 10:

(Key: Group 1 = ‘Hate’ synthesised voices; Group 2: ‘Tolerate’ synthesised voices but
prefer human voices; Group 3: ‘neutral’, Group 4: synthesised voices ‘sometimes
suitable’; Group 5: synthesised voices are ‘sometimes more suitable than human

voices’)

1 x 2: H(1) = 2.735, p=0.098
1x3: H(1) = 1.398, p=0.237
1 x4: H(1) =4.176, p=0.041 *
1 x 5: H(1) = 6.691, p=0.010 *

2x 3: H(1) = 0.773, p=0.379
2 x 4: H(1) = 0.326, p=0.568
2x 5: H(1) = 5.825, p=0.016 *
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3 x 4: H(1) = 2.762, p=0.097 *
3 x 5: H(1) = 6.584, p=0.010 *

4x 5: H(1) = 4.752, p=0.029 *
Item 11_1: Please give your opinion on the usefulness of producing

graphics with synthesised voices in order to practice aural
comprehension.

Ranks : Test Statistics™”
Attitude to Item 11 1
synthesised voices Chi-Square 31.088
df 4
Asymp. Sig. .000

a. Kruskal Wallis Test
' b. Grouping Variable:
| Attitude to synthesised voices ||

(pre-game)

Kruskal-Wallis Test Statistics for Item 11_1:
H(4) =31.088, p=0.000 *
Kruskal-Wallis Test Statistics for post hoc analysis of Item 11_1:

(Key: Group 1 = ‘Hate’ synthesised voices; Group 2: ‘Tolerate’ synthesised voices but
prefer human voices; Group 3: ‘neutral’, Group 4: synthesised voices ‘sometimes
suitable’; Group 5: synthesised voices are ‘sometimes more suitable than human
voices’)

1x 2: H(1) = 7.639, p=0.006 *
1x 3: H(1) = 8.236, p=0.004 *
1 x 4: H(1) = 15.907, p=0.000 *
1x 5: H(1) = 10.977, p=0.001 *

2x3: H{1)=0.154, p=0.715
2x4: H(1) =3.302, p=0.069
2x 5: H(1)=11.224, p—0001*

3 x 4: H(1) = 7.832, p=0.005 *
3 x 5: H(1) = 12.672, p=0.000 *

4x 5: H(1)=11.017, p=0.001 *
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Item 11_2: Please give your opinion on the quality of the synthesised
voices: to what extent do you think the voices are adequate for the type
of learning platform presented here?

Ranks | Test Statistics™®
Attitude to Item11 2
synthesised voices |

(pre-game)

| Item 11_2

Kruskal-Wallis Test Statistics for Iltem 11_2:

H(4) = 16.508, p=0.002 *

Kruskal-Wallis Test Statistics for post hoc analysis of ltem 11_2:
(Key: Group | = ‘Hate’ synthesised voices; Group 2: ‘Tolerate’ synthesised voices but
prefer human voices; Group 3: ‘neutral’, Group 4: synthesised voices ‘sometimes
suitable’; Group 5: synthesised voices are ‘sometimes more suitable than human
voices’)

1 x2: H(1) = 1.026, p=0.311

1 x 3: H(1) = 5.140, p=0.023 *

1x4:H(1)=6.192, p=0.013 *

1 x 5: H(1) = 6.888, p=0.009 *

2 x 3: H(1) = 3.403, p=0.065

2x4: H(1)=4.526, p=0.033 *

2x 5: H(1) = 7.504, p=0.006 *

3 x 4: H(1) = 0.443, p=0.506
3 x 5: H(1) = 6.457, p=0.011 *

4x 5: H(1) = 5.993, p=0.014 *

Item 11_3: Please give your opinion on the attractiveness of the voices.
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Ranks

Test Statistics™®

Attitude to Item11 3 B

synthesised voices Mean [H Chi-Square 12.383 |
i (pre-game) N | Rank J{ddr 4|l
fitem 113 1 13| 87.04 j{] Asymp. Sig. UH |
: 2 42| 123.98 || a. Kruskal Wallis Test “
x 3 129] 121.28 } b. Grouping Variable:
| 4 631 141.87 | Attitude to synthesised voices |
" 5 5| 19130 | |
Total 252

Kruskal-Wallis Test Statistics for Item 11_3:

H(4) = 12.383, p=0.015 *

Kruskal-Wallis Test Statistics for post hoc analysis of Item 11_3:

(Key: Group 1 = ‘Hate’ synthesised voices; Group 2: ‘Tolerate’ synthesised voices but
prefer human voices; Group 3: ‘neutral’, Group 4: synthesised voices ‘sometimes

suitable’; Group 5: synthesised voices are ‘sometimes more suitable than human
voices’)

%2
1'% 3¢
1x4:
1'x5:

2:X:3:
2x:4:
29X:S:

3x4:
X S:

4x 5;

H(1) = 3.021, p=0.082
H(1) = 2.941, p=0.086
H(1) = 6.736, p=0.009 *
H(1) = 3.900, p=0.048 *

H(1) = 0.055, p=0.815
H(1) = 1.816, p=0.178
H(1) = 4.125, p=0.042 *

H(1) = 3.805, p=0.051
H(1) = 4.409, p=0.036 *

H(1) = 3.623, p=0.057
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F3: Kruskal-Wallis Test Results: Taidhgin

Expansion of Kruskal-Wallis Test for items showing significance in Table 5.13,
Chapter 5. These expansions show the mean rank scores and the direction of the
differences. They also give the post hoc analysis showing where the difference lies.

Gender

Item 4: To what extent to do you think this type of learning platforms (i.e.
the interaction and playfulness) would help in practicing conversational
Irish?

Test Statistics™”

Ranks

Item 4

Chi-Square 5.143 |
Gender df i

it & Femile 8 Asymp. Sig. 023
Mg | &. Kruskal Wallis Test |
Total | b. Grouping Variable:
~ Gender

Kruskal-Wallis Test Statistics for Item 4:

H(1)=5.143, p=0.023 *

Item 9: The synthesised voices were sufficiently clear to make the
speech intelligible.

Ranks : Test Statistics™”

e

RGN A

R

Gender Chi-Square 5.135
Item 9 Female ] df 1
Male ! Asymp. Sig. .023
Total ! | a. Kruskal Wallis Test
B . Grouping Variable:

RS

Gend
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Kruskal-Wallis Test Statistics for Item 9:

H(1)=5.135, p=0.023 *

Item 10: Did you experience particular difficulties with the dialects that
are used in Taidhgin?

Test Statistics™”

Item 10 ||

Gender

1 1tem 10

Female

Male

| | Chi-Square
1df
1 Asymp. Sig.

7.243 |
K
.007

Total " a. Kruskal Wallis Test
Bar ' . b. Grouping Variable:

B Gender

Kruskal-Wallis Test Statistics for Item 10:

H(1)=7.243, p=0.007 *

Between-School Differences

Iitem 3: How would you describe the movements of the talking monkey
and their alignment to speech?

Ranks Test Statistics™”

Item 3
Chi-Square 6.562
df 2
Asymp. Sig. .038

a. Kruskal Wallis Test
| b. Grouping Variable:

School Type

Gaeltacht

Gaelscoil

English

Total
- | School Type

Kruskal-Wallis Test Statistics for Item 3:
H(2)=6.562, p=0.038 *
Kruskal-Wallis Test Statistics for post hoc analysis of Item 3:

Gaeltacht x Gaelscoil: H(1)=6.686, p=0.010 *
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Gaeltacht x English: H(1)=0.813, p=0.367
Gaelscoil x English: H(1)= 4.404, p=0.036 *

Item 4: To what extent do you think this type of learning platform (i.e. the
interaction and playfulness) would help in practicing conversational
Irish?

Ranks Test Statistics™"

Item 4 ‘
1] Chi-Square 17.186 |
] af 2}
] Asymp. Sig. 000 |
2. Kruskal Wallis Test
BB G onsiing Vavisble:

School Type

Gaeltacht

Gaelscoil

English

Total
o ' School Type

Kruskal-Wallis Test Statistics for Item 4:

H(2)=17.186, p=0.000 *

Kruskal-Wallis Test Statistics for post hoc analysis of Item 4:
Gaeltacht x Gaelscoil: H(1)=1.872, p=0.171

Gaeltacht x English: H(1)=9.999, p=0.002 *
Gaelscoil x English: H(1)= 11.581, p=0.001 *

Item 5: Would you use a virtual conversation partner (like the talking
monkey) should it be available and easily accessible in your school?

Ranks Test Statistics

School Type Chi-Square
| Asymp. Sig. .001 '
a. Kruskal Wallis Test :
b. Grouping Variable:

Gaeltacht

Gaelscoil

English

Total 5 4
: | School Type

Kruskal-Wallis Test Statistics for Iltem 5:
H(2)=14.895, p=0.001 *

Kruskal-Wallis Test Statistics for post hoc analysis of ltem 5:
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Gaeltacht x Gaelscoil: H(1)=3.237, p=0.072
Gaeltacht x English: H(1)=6.497, p=0.011 *
Gaelscoil x English: H(1)=11.798, p=0.001 *

Item 6: To what extent would you be motivated by this type of activity?

Ranks

Test Statistics™

School Type

Gaeltacht

Gaelscoil

English
Total

Kruskal-Wallis Test Statistics for Item 6:

H(2)=15.082, p=0.001 *

{ Chi-square
1] ar
: 1. Asymp. Sig.
| a. Kruskal Wallis Test
* b. Grouping Variable:

" | School Type

Item 6
15.082 ||
001 ||

Kruskal-Wallis Test Statistics for post hoc analysis of Iitem 6:

Gaeltacht x Gaelscoil: H(1)=9.045, p=0.003 *
Gaceltacht x English: H(1)=1.833, p=0.176
Gaelscoil x English: H(1)= 14.106, p=0.000 *

Item 10: Did you experience particular difficulties with the dialects that

are used in Taidhgin?

Ranks

Test Statistics™®

School Type

R SRR PR I MR R IR i e ¥

Total

Gaeltacht
Gaelscoil

English

Item 10

| af

20.754
2
.000 § |

Chi-Square

Asymp. Sig.

© a. Kruskal Wallis Test
8 b. Grouping Variable: School
| Type

Kruskal-Wallis Test Statistics for Item 10:

H(2)=20.754, p=0.000 *

Kruskal-Wallis Test Statistics for post hoc analysis of Iitem 10:
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Gaeltacht x Gaelscoil: H(1)=5.671, p=0.017 *
Gaeltacht x English: H(1)=20.346, p=0.000 *
Gaelscoil x English: H(1)= 0.089, p=0.766

11_3: Please give your opinion on the attractiveness of the voices.

Ranks

Test Statistics™

School Type

Rank

(] Item 11 3 Gaeltacht

Gaelscoil

English

Kruskal-Wallis Test Statistics for Item 11_3:

H(2)=6.408, p=0.041 *

80

Total

Item 11 3

127.78 |} df

] Asymp. Sig.

Chi-Square

6.408 |
2|
041

a. Kruskal Wallis Test
b. Grouping Variable:

_ School Type

Kruskal-Wallis Test Statistics for post hoc analysis of ltem 11_3:

Gaeltacht x Gaelscoil: H(1)=4.653, p=0.031 *
Gagcltacht x English: H(1)=4.353, p=0.037 *
Gaelscoil x English: H(1)= 0.674, p=0.412

Frequency Playing Computer Games

Item 9: The synthesised voices were sufficiently clear to make the

speech intelligible.

Ranks

Test Statistics™®

Frequency Playing

Computer Games

Mean

Never
Seldom
Weekly

Daily
Total

444

Item 9

Chi-Square 10
df
Asymp. Sig.

558

o014 ||

d

| a. Kruskal Wallis Test
- b. Grouping Variable:

| Frequency Playing

= | Computer Games




Kruskal-Wallis Test Statistics for Item 9:

H(3) = 10.558, p=0.014 *

Kruskal-Wallis Test Statistics for post hoc analysis of ltem 9:
(Key: 1 = Never; 2 = Seldom; 3 = Weekly; 4 = Daily)

1x 2: H(1) = 0.153, p—0.695
1x 3: H(1) = 7.592, p=0.006 *
1 x 4: H(1) = 3.901, p=0.048 *
2x 3: H(1) = 6.719, p=0.010 *
2 x 4: H(1) = 2.679, p=0.102
3 x 4: H(1) = 0.113, p=0.736

Item 11_2: Please give your opinion on the quality of the synthesised
voices: to what extent do you think the voices are adequate for the type
of learning platform presented here?

Ranks Test Statistics™”

Frequency Playing Mean | Item 11 2
1] Chi-Square 15.218 |
ltem 11 2 Never 47| 91.17 B df 30

Seldom || Asymp. Sig. 002 |

Computer Games

Weekly 37| 13927 || a. Kruskal Wallis Test

Daily b. Grouping Variable:

B R SRS RS A N R IR R ST

Total ’ Frequency Playing
SRS = | Computer Games

Kruskal-Wallis Test Statistics for Item 11_2:

H(3) = 15.218, p=0.002 *

Kruskal-Wallis Test Statistics for post hoc analysis of ltem 11_2:
(Key: 1 = Never; 2 = Seldom; 3 = Weekly; 4 = Daily)

1 x 2: H(1) = 6.405, p=0.011 *

1x 3: H(1) = 14.595, p=0.000 *

1 x 4: H(1) = 1.395, p=0.238

2 x 3: H(1) = 4.680, p=0.031 *

2 x 4: H(1) = 0.227, p=0.634
3 x 4: H(1) = 4.184, p=0.041 *
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Item 11_3: Please give your opinion on the attractiveness of the voices.

Test Statistics™”

Ranks

Item11 3 §
Chi-Square 8.192

Frequency Playing Mean
Computer Games N Rank i
(fItem 113 Never 47| 95.37 |
Seldom
Weekly

Asymp. Sig. .042
a. Kruskal Wallis Test ;
|| b. Grouping Variable:

Daily i %
Frequency Playing Computer

Total ‘
| Games

Kruskal-Wallis Test Statistics for Item 11_3:

H(3) = 8.192, p=0.042 *

Kruskal-Wallis Test Statistics for post hoc analysis of Item 11_3:
(Key: 1 = Never; 2 = Seldom; 3 = Weekly; 4 = Daily)

1 x 2: H(1) = 5.765, p=0.016 *
1 x 3: H(1) = 4.597, p=0.032 *
1 x 4: H(1) = 0.019, p=0.891
2 x 3: H(1) = 0.080, p=0.777
2 x 4: H(1) = 2.258, p=0.133
3 x 4: H(1) = 2.399, p=0.121

Level of Understanding of Irish

Item 4: To what extent do you think this type of learning platform (i.e. the
interaction and playfulness) would help in practicing conversational
Irish?

Ranks Test Statistics™

[tem 4
Chi-Square | 14.067
df 4
Asymp. Sig. .007
| a. Kruskal Wallis Test ]
b. Grouping Variable:
Level of understanding
i of Irish

Level of
understanding of Mean
Irish
1 = Lowest Level
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9855

5 = Highest Level 87
Total 228

Kruskal-Wallis Test Statistics for Item 4:

H(4) = 14.067, p=0.007 *

Kruskal-Wallis Test Statistics for post hoc analysis of Item 4:

(Key: Group 1 = Lowest level - Group 5 = Highest level of understanding of Irish)
1x2:H(1)=0.111, p=0.739

1 x 3: H(1) = 0.358, p=0.549

1 x 4: H(1) = 0.020, p=0.888

1 x 5: H(1) = 0.560, p=0.454

2 x 3: H(1) = 0.006, p=0.941

2 x4: H(1) = 0.258, p=0.612

2 x 5: H(1) =0.931, p=0.335

3 x 4: H(1) = 4.100, p=0.043 *
3 x 5: H(1) = 12.378, p=0.000 *

4x 5:H(1) = 5.008, p=0.025 *

Item 5: Would you use a virtual conversation partner (like the talking
monkey) should it be available and easily accessible in your school?

Ranks Test Statistics™”

Level of Item 5
understanding of | Chi-Square 20.580 ||
Irish df 41

1 =Lowest Level Asymp. Sig. .000 §|
| a. Kruskal Wallis Test '
| b. Grouping Variable:

' Level of understanding of ||

5 = Highest Level ISh

Total

Kruskal-Wallis Test Statistics for Item 5:
H(4) =20.580, p=0.000 *

Kruskal-Wallis Test Statistics for post hoc analysis of ltem 5:
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(Key:

{1549
1:x:3:
1ix4:
lexad:

2:%.3:
2 X4
DX e

3x4:
3'X:5:

4x5:

Item 6: To what extent would you be motivated by this type of activity?

Group | = Lowest level - Group 5 = Highest level of understanding of Irish)

H(1) = 0.667, p=0.414
H(1) = 0.481, p=0.488
H(1) = 0.096, p=0.757
H(1) = 0.980, p=0.322

H(1) = 2.003, p=0.157
H(1) = 0.225, p=0.636
H(1) = 0.055, p=0.814

H(1) = 6.680, p=0.010 *
H(1) = 17.251, p=0.000 *

H(1) = 7.551, p=0.006 *

Ranks

T

i ] Test Statistics™”

} Level of Mean 5 Item 6

| understanding of Irish | N | Rank 3 Chi-Square 10411 ||
|item 6 1= Lowest Level 3| s fae i
2 2| 67.25 || Asymp. Sig. 034
? 3 36| 139.83 & a. Kruskal Wallis Test

% 4 100] 115.09 ; b. Grouping Variable: Level

5 = Highest Level 37| \Wagusq T S Emning of Trigh

v Total 228 ( S

Kruskal-Wallis Test Statistics for Item 6:

H(4) = 10.411, p=0.034 *

Kruskal-Wallis Test Statistics for post hoc analysis of Item 6:

(Key:

1ix2:
1Ex 3.
Iixi4:
o ¢ 5

2x 3
2x4:
2 X1

3 x4:

Group 1 = Lowest level - Group 5 = Highest level of understanding of Irish)

H(1) = 0.370 p=0.543
H(1) = 0.488, p=0.485
H(1) = 0.015, p=0.903
H(1) = 0.031, p=0.861

H(1) = 2.524, p=0.112
H(1) = 1.429, p=0.232
H(1) = 0.750, p=0.387

H(1) = 4.987, p=0.026 *
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3 x 5: H(1) = 8.525, p=0.004 *

4 x 5: H(1) = 1.596, p=0.206

Item 10: Did you experience particular difficulties with the dialects that
are used in Taidhgin?

Ranks Test Statistics™

Level of Item 10 ||

understanding of { Chi-Square
Irish df

| ltem 10 1= Lowest Level Asymp. Sig.

- a. Kruskal Wallis Test
| b. Grouping Variable:

| Level of understanding of
5 = Highest Level "  lnsh e

Total

Kruskal-Wallis Test Statistics for Item 10:

H(4) = 15.908, p=0.003 *

Kruskal-Wallis Test Statistics for post hoc analysis of ltem 10:
(Key: Group 1 = Lowest level - Group 5 = Highest level of understanding of Irish)
1 x2: H(1) =0.351, p=0.554

1x 3: H(1) = 0.876, p=0.349

1 x4: H(1) = 0.180, p=0.672

1x5: H(1) = 1.360, p=0.244

2 x 3: H(1) = 3.837, p=0.050

2 x4: H(1) = 1.482, p=0.223

2 x 5: H(1) =4.354, p=0.037 *

3 x4: H(1) = 3.783, p=0.052
3 x 5: H(1) = 0.569, p=0.451

4x 5: H(1) = 11.605, p=0.001 *
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Attitude towards Synthetic Voices

Item 1: Do you feel the graphic display (the talking monkey) is suitable
for this type of game/activity?

Ranks
Attitude to

Synthesised Voices | Chi-Square
(pre-game) 1] df

1 = .. hate... : Asymp. Sig.
:5 a. Kruskal Wallis Test
' b. Grouping Variable:

| Attitude to synthesised

5 = ...suitable... 1 (pre-game)

Total

Kruskal-Wallis Test Statistics for Item 1:
H(4) = 12.268, p=0.015 *
Kruskal-Wallis Test Statistics for post hoc analysis of Item 1:

(Key: Group | = ‘Hate’ synthesised voices; Group 2: ‘Tolerate’ synthesised voices but
prefer human voices; Group 3: ‘neutral’, Group 4: synthesised voices ‘sometimes
suitable’; Group 5: synthesised voices are ‘sometimes more suitable than human
voices’)

1 x 2: H(1) = 0.228, p=0.633
1 x 3: H(1) = 0.019, p=0.890
1 x 4: H(1) = 2.075, p=0.150
1x 5: H(1) = 0.215, p=0.643

2x3: H(1) = 1.693, p=0.193
2x4:H(1)=3.011, p=0.083
2 x 5: H(1) = 0.085, p=0.771

3 x 4: H(1) = 11.809, p=0.001 *
3 x 5: H(1) = 0.410, p=0.522

4x 5: H(1) = 0.054, p=0.816
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Item 6: To what extent would you be motivated by this type of activity?

Test Statistics™”

Attitude to Item6 |}
Synthesised Voices Chi-Square 10.947
(pre-game) : df
1=_.hate... Asymp. Sig.
a. Kruskal Wallis Test

%
b
B
g
&

Attitude to Synthesised

= ...suitable... . Voices -gamc)

Total

St 0 sl

Kruskal-Wallis Test Statistics for Item 6:
H(4) = 10.947, p=0.027 *
Kruskal-Wallis Test Statistics for post hoc analysis of ltem 6:

(Key: Group 1 = ‘Hate’ synthesised voices; Group 2: ‘“Tolerate’ synthesised voices but
prefer human voices; Group 3: ‘neutral’, Group 4: synthesised voices ‘sometimes
suitable’; Group 5: synthesised voices are ‘sometimes more suitable than human
voices’)

1x2: H(1) = 2.122, p=0.145
1 x 3: H(1) = 0.406, p=0.524
1 x 4: H(1) = 3.391, p=0.066
1x 5: H(1) = 1.775, p=0.183

2 x 3: H(1) = 2.510, p=0.113
2 x 4: H(1) = 1.081, p=0.298
2x 5: H(1) = 0.660, p=0.416

3 x 4: H(1) = 7.938, p=0.005 *
3 x 5: H(1) = 1.384, p=0.239

4x 5: H(1) = 0.191, p=0.662
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Item 8: The overall standard of the Irish used by Taidhgin is at about the
right level for me.

Test Statistics™”

Ranks
Attitude to Item 8
synthesised voices Ghrsaine 11168
(pre-game) N | Rank Il a N
I =" hate:_. ] Asymp. Sig. s I

a. Kruskal Wallis Test :
b. Grouping Variable: |

Attitude to synthesised
ice (=

5 = ...suitable... ?)

Total

Kruskal-Wallis Test Statistics for Item 8:
H(4) = 11.168, p=0.025 *
Kruskal-Wallis Test Statistics for post hoc analysis of Item 8:

(Key: Group 1 = ‘Hate’ synthesised voices; Group 2: ‘Tolerate’ synthesised voices but
prefer human voices; Group 3: ‘neutral’, Group 4: synthesised voices ‘sometimes
suitable’; Group 5: synthesised voices are ‘sometimes more suitable than human
voices’)

1 x 2: H(1) = 2.582, p=0.108
1 x 3: H(1) = 1.998, p=0.158
1 x 4: H(1) = 4.482, p=0.034 *
1 x 5: H(1) = 4.004, p=0.045 *

2 x 3: H(1) = 0.663, p=0.416
2 x 4: H(1) = 0.726, p=0.394
2x 5: H(1) = 3.885, p=0.049 *

3 x 4: H(1) = 4.139, p=0.042 *
3 x 5: H(1) = 4.456, p=0.035 *

4x 5:H(1) = 3.573, p=0.059
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Item 9: The synthesised voices were sufficiently clear to make the
speech intelligible.

Ranks Test Statistics™”

Attitude towards

synthesised voices Mean || Chi-Square
(pre-game) N Rank | 4f
Item9 1= hate... 10 99.15 Bf

] Asymp. Sig. 006 ||

. A Kruskal Wallis Test
| b. Grouping Variable:
Attitude towards

R R i L AR R R R TR AR

5 = ...suitable... 3| ool T e veioes (pro-

Totial 228

IR e

Kruskal-Wallis Test Statistics for Item 9:
H(4) = 14.607, p=0.006 *
Kruskal-Wallis Test Statistics for post hoc analysis of ltem 9:

(Key: Group 1 = ‘Hate’ synthesised voices; Group 2: ‘Tolerate’ synthesised voices but
prefer human voices; Group 3: ‘neutral’, Group 4: synthesised voices ‘sometimes
suitable’; Group 5: synthesised voices are ‘sometimes more suitable than human
voices’)

1 x 2: H(1) = 0.107, p=0.744
1 x 3: H(1) = 0.339, p=0.560
1 x 4: H(1) = 1.892, p=0.169
1x5: H(1) =2.536, p=0.111

2 x 3: H(1) = 0.259, p=0.611
2 x 4: H(1) = 7.386, p=0.007 *
2 x 5: H(1) = 6.447, p=0.011 *

3 x 4: H(1) = 7.227, p=0.007 *
3 x 5: H(1) = 5.348, p=0.021 *

4x 5: H(1) =3.151, p=0.076
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Item10: Did you experience particular difficulties with the dialects that

are use in Taidhm?

Test Statistics™”

Attitude to Item 10

synthesised voices Chi-Square
: (pre-game) df
(] Item 10 1 = .. hate... Asymp. Sig.
; | a. Kruskal Wallis Test
. Grouping Variable:

ttitude to synthesised

' voices (pre-game)

5 = ...suitable...

Total

Kruskal-Wallis Test Statistics for Item 10:
H(4) = 15.347, p=0.004 *

Kruskal-Wallis Test Statistics for post hoc analysis of ltem 10:

(Key: Group 1 = ‘Hate’ synthesised voices; Group 2: ‘“Tolerate’ synthesised voices but
prefer human voices; Group 3: ‘neutral’, Group 4: synthesised voices ‘sometimes
suitable’; Group 5: synthesised voices are ‘sometimes more suitable than human
voices’)

1x 2: H(1) = 1.188, p=0.276
1 x 3: H(1) = 0.032, p=0.859
1 x 4: H(1) = 2.346, p=0.126
1 x 5: H(1) = 3.164, p=0.075

2 x 3: H(1) = 2.817, p=0.093
2 x 4: H(1) = 2.094, p=0.148
2 x 5: H(1) = 5.416, p=0.020 *

3 x 4: H(1) = 9.367, p=0.002 *
3 x 5: H(1) = 4.629, p=0.031 *

4x 5: H(1) = 3.290, p=0.070
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Item q 3: es ‘ iv your o no on the attactiveness of th voices.

Ranks Test Statistics™
Attitude to ||

synthesised voices Chi-Square
(pre-game) df
item 11 3 1= _hate... H Asymp. Sig.

a. Kruskal Wallis Test
b. Grouping Variable:
| Attitude to synthesised

5 = ...suitable...

Total

Kruskai-Waliis Test Statistics for Item 11_3:
H(4) = 10.205, p=0.037 *
Kruskal-Wallis Test Statistics for post hoc analysis of ltem 11_3:

(Key: Group 1 = ‘Hate’ synthesised voices; Group 2: ‘Tolerate’ synthesised voices but
prefer human voices; Group 3: ‘neutral’, Group 4: synthesised voices ‘sometimes
suitable’; Group 5: synthesised voices are ‘sometimes more suitable than human
voices’)

1x 2: H(1) = 1.910, p=0.167
1x 3: H(1) = 1.153, p=0.283
1 x 4: H(1) = 4.282, p=0.039 *
1 x 5: H(1) = 1.814, p=0.178

2 x 3: H(1) = 0.308, p=0.579
2 x 4: H(1) = 3.306, p=0.069
2 x 5: H(1) = 0.986, p=0.321

3 x 4: H(1) = 6.903, p=0.009 *
3 x 5: H(1) = 1.088, p=0.297

4 x 5: H(1) = 0.066, p=0.798
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Appendix G

G1: Spearman’s Rank Correlation Coefficient for Digichaint
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Table 1: Spearman’s rho correlations for Digichaint

Item Item Item [tem Item [tem Item Item [tem Item [tem Item [tem Item [tem [tem [tem Item [tem | Item
1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 1 17.2 0173
1
2 r{248)
=256;
p=.000
3 r{248)= | r(248)
440, =129;
p=.000 | p=.041
4 r= r{248) | r(24%)
284; =207; | =455;
p=.000 | p=.001 | p=.000
5 re r{248) | r(248) | r(248)
A89; =241; | =396; | =258;
6 r= r,(248) r{248) | r{248) | r{(248)
287; =2092: | =244; | =220; | =302;
7 re= r{248) | r.(248) | r.(248) r.(248) r.(248)
407; =237; | =301; | =.176; —-.563, =.464;
8 re r,(248) r{248) | r{(248) r,(248) r(248) | r{(248)
.380; =259; | =387; | =236; | =543; | =309; | =533;
9 r T a8 | 708 | r288) | r288) | r088) | r038) | 71088)
.072; =0.59; | =127; | =060; | =.166; | =.052; | =077, | =106;
p=257 | p=351 | p=044 | p=347 | p=008 | p=412 | p=227 | p=09%4
10 re r{248) r,(248) r{248) | r{(248) | r.(248) r{248) | r{248) | r.(248)
J388; =179; | =312; | =226; | =.429; | =.305%%; | =370; | =392; | =021;
p=.000 | p=.005 | p=.000 | p=.000 | p=.000| p=000 | p=.000 | p=.000 | p=.738




8Sv

11 r= 7:(248) | 7{(248) | »(248) | r.(248) | ~.(248) | r.(248) | ».(248) | »(24R) | ».(248)
150; =125; | =218; | =109; | =154; | =135; | =.190; | =112; | =0.72; | =221;
p=.018 | p=048 | p=.001 | p=.086 | p=014 | p=.033 | p=.003 | p=.078 | p=.254 | p=.000
12 r= r{(248) | ».(248) r,(-m) rd248) | r(248) | r{248) | r(248) | »{248) | r(248) | r.(248)
277 | =127 | =202; | =132; |:=270; | =122; | =.142; | =276; | =128; [ =332 : =300;
p=.000 | p=1045 | p=.001 | p=038 | p=.000] p=.054 | p=.025 | p=.000 | p=.044 | p=.000 | p=.000
13 r= r{248) | (248) | »(248) | r(248) | r(248) | r(248) | »(248) | ~(248) | ».(248) | (248) | r(248)
207; =063; | =167; | =010; | =115, | =154; | =190; | =.103; | =.113; | =280; | =297; | =284;
p=.001 | p=324 | p=.008 | p=878 | p=.070 015 003 | p=.106 | p=.075 | p=.000 | p=.000 | p=.000
14 re= r{(248) | r(248) | r(248) | r.(248) | r{(248) | r.(248) | r248) | ».(248) | r(248) | r(248) | r(248) | »(248)
215 =102; | =.186; | =.174; | =.118; | =149; | =.158; | =132; | =.119; [ =296; | =.094; | =301; | =290;
p=.001 | p=.107 | p=.003 | p=.006 | p=063 | p=018 | p=.012 | p=.037 | p=.060 | p=.000 | p=.138 | p=.000 | p=.000
15 r= r{248) | »(248) | r(248) | r.(248) | r.(248) | r.(248) | r(248) | r(248) | r.(248) | r(248) | r.(248) | r.(248) | r(248)
294, =069; | =120; | =105; | =203; | =061; | =231; | =178; | =113; | =229; | =114; | =243; | =.236; t=388; i
p=000 | p=280 | p=057 | p=097 | p=001 | p=.335 | p=.000 | p=.005 [ p=074 | p=.000] p=072 .000 .000 |:p=.000:
16 re= r{248) | r{248) | r(248) | r(248) | r(248) | r(248) | r{248) | r(248) | r{248) | r{(248) { r{248) | r{(248) [:r(248) {:.(248)
354; =284; | =303; | =271; | =262; | =157; | =225; | =.26l; | =089; | =309; | =176; { =406; | =309; | =331; }:=404; :
p=.000 | p=.000 | p=.000 | p=.000 | p=.000| p=.013 | p=.000 | p=.000 | p=.160 | p=.000 { p=.005 | p=.000 | p=.000 | p=.000 }:p=.000 |
17 e r(248) | r.(248) | »(248) | r(248) | r(248) | r.(248) | r.(248) r,(248) s r{248) | r(248) | r(248) | »(248) | ~.(248) | r.(248) | r(248)
o .243; =250; | =332; | =211; | =308; | =332; | =373; | =327; | =119; | =390; | =145; | =147; | =232; | =.159; | =.144; | =.291;
p=.000 | p=000 | p=.000 | p=.001 | p=000| p=.000 .000 | p=.000 | p=.061 | p=000{ p=.022 | p=020 | p=.000 | p=.012 | p=.023 | p=.000
17 [ r{248) | r(248) | r{(248) | r(248) | r(248) | r(248) | r(248) | r(248) | r(248) { r(248) | r(248) | r(248) [ :r(248) | r(248) r,(248) r.(248)
=3 s =180; | =296; | =153; | =298; | =I131; | =306; | =247; | =096; | =327; { =275; | =440; | =300; }[:=299; | =323; =453; =314;
p=.000 | p=004 | p=.000 | p=015| p=.000| p=.038 | p=.000 | p=.000 | p=.130 | p=.000{ p=.000 | p=.000 .000 | :p=.000] p=.000 .000 p=.000
17 7= | 7(248) | r.288) | rA248) | r(248) | rA248) | r.(248) | r(248) | r.(248) | rA248) | r.238) | rA248) | rA248) | r248) | r(248) r(248) r.(248) [7.(248)
53 446, =148; | =332; | =214; | =276; | =222; | =235; | =214; | =-.079; |: =338; | =240; | =362; | =290; [:=.260; | =377, =471; =301; | =366,
p£=.000 | p=2019 | p=000 | p=00! | p=000| p=.000 | p=.000 | p=.001 | p=215 | p=.000 { p=.000 | p=.000 | p=.000 | p=10001 p=.000 p=.000 p=.000 | p=.000

Yellow = Correlation is significant at the 0.01 level (2-tailed)
Green = Correlation is significant at the 0.05 level (2-tailed)
Blue = Correlation has not reached significance




G2: Spearman’s Rank Correlation Coefficient for Failte go TCD

000=d | Z10'=d | (00=9 | 000=9 | 200'=d | 610=4 [ 000'=9 | 100'=9 | S00'=d
Sh= | 651= | ‘69l= W= | 661= | Byl= | ‘WT= | ‘60T= | ‘LLI'=
(os2)« | (osoy+ | (oszy< | (osz)y+ | (osz)+ | (oso)+ | (osoy< | (oso)+ | (0s)y4 | o1
100=9 | 000=9 | 000=4 | 000'=4 | 000'=4 | 000°=4 | 100'=4 | 000 =
S0T= | ‘LoE= ‘L= 0= | 0f€= | 9g€= | ‘TUT= | ‘€€T=
(osy+ | (ospy« | (osoy< | (os2)« | (ospy« | (osz)< | (osz)y+ | (oso)y< | 6
000=4 | 000=4 | 000=9 | 100=9 | S67 =9 | 0Z0'=4 | 050 =9
SET= 19T = ¥Tr= | TUT= | 990°= | ‘tyl'= | $I'=
(0s)« | (osoy« | (0s2)« | (os2)+ | (oszr4 | (os)< | (osp)+ | 8
000=4 | 000'=9 | 000=4 | 000'=9 | 000'=4 | 000 =9
P0S= | £29= | ‘£IC= | ‘€I€= | ‘BI€= | 9f€=
(0szy+ | (os2)+ | (oso)< | (osz)« | (oso)+ | (oso)y« | ¢
000=4 | 000=4 | 000'=9 | 100'=4 | 000" =4
Bic= | ‘9f¢= | ZE= | ‘LIT= | ‘TWE=
(0sz)« | (os« | (osT)y« | (oso)+ | (0sD)« | 9
000=4 | 000=4 | 000=¢ | 000'=9
9S= | ‘WoE= | ‘8LT= | ‘00€=
(0s2)+ | (osz)« | (os2r« | (osoy+ | s
000'=4 | 000'=4 | 000 =9
‘Ley= | ‘lov= | ‘SfE=
(052« | (os)+ | (osD)+ | ¢
000 =4 | 000 =9
‘£6v'= | ‘89¢’=
(0s2)« | (0sD)« | ¢
000 =4
Piy=
(0s)« | ¢
I
T AL T 0l 6 8 L 9 S v £ z I
W 53_ wal] EQ: Eu: w3l w2 Eo: Eu: Eus Euw— w1 Eu:

@)l oF a3ip4 10j suonejailod oyl s,ueurreads ;7 a|qe L
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11 rd250) | »{250) | »4250) | »(250) | ~4(250) r{250) r{250) r{250) r{250) r{250)
1 =314; =.369; =308; =474, =398; =453; =.405; =229; =268; =.139;
11 r(250) | »(250) | »{250) | »(250) | ~»{(250) r{250) r(250) r(250) r(250) r,(250) r(250)
2 =219; =261; =342; =.303; =272; =387, =276; =,190; - g =338; =,208;
p=.000 | p=000 | p=000| p=000 | p=000 | p=000 | p=000 | p=002 | p=000 | p=000 | p=.001
11 r(250) | »(250) | »{250) | ~»(250) | »4(250) r{250) r{250) r{250) r{250) r{250) r{250) | ».(250)
3 =268, =219; =317, =215; =255; =.304; =289, =223; =476; =272; =167; =364;
p=.000 | p=000 | p=000| p=001 | p=000 | p=000 [ p=000 | p=000 | p=000 | p=.000 | »=.008 | p=.000

Yellow = Correlation is significant at the 0.01 level (2-tailed)

Green = Correlation is significant at the 0.05 level (2-tailed)
Blue = Correlation has not reached significance




G3: Spearman’s Rank Correlation Coefficient for Taidhgin

000=4 [000'=4 [ 000'=4 [ 000'=4 | 000=9 | L+0'=9 | 000'=4 | 000'=< | £00'=4
Siy'= | ‘(8T= | ‘09T= | ‘SOt= | ‘THT= | ‘TEI= | ‘96T = | 0LT= | “P6I'=
(9z2)+ | (9z2)+ | (9ze)+ | (9zo)y+ | (9zz)« | (9ze)+ | (9zT)+ | (9z2)+ | (9T0)+4 01wl
000=4 | 000'=4 | 000=4 | £00'=9 | 000'=4 | 000'=4 | 000'=4 | 000 =4
WEE= | ‘B9T= | ‘9EC= | §61= | ‘I¥T= | ‘LEE= | ‘L¥T= | 9ST=
(9z2)+ | (9zz)+ | (9ze)+ | (9ze)+ | (9zT)+ | (9zT)+ | (9ZT)+ @&: 61|
6Ec= | = | ‘60€= | ‘S9T= | = | ¢ = | CCT'=
(97« | (9ze)+ | (9zTy+4 | (9z)y+ | (9zT)+ | (9z0)+ ch guiAl]
‘60S= | OLY'= | WOS= | ‘1T€= | ‘THS= | ‘16¥=
(9ze)« | (9z)« | (9z)y+ | (9TD)+ | (9zD)+ Gac L]
‘186= | ‘865= | 0IS= | ‘TEy= | BLC=
(9zz)y+ | (9zT)+ | (9T« | (9TT)+ GNNT Quuayg
965= | ‘ITy= | 6ly’= | ‘SSE'=
(9zz)+ | (9z2)+ | (92T)+ | (92T)4 Sl
8&.& So.nN 000 el
‘o= | ‘86v'= | ‘10¢'=
(9z2)« | (9zT)+ | (9TT)+ Pl
Sc.nh 000 5 §
oE= | pLE=
(9zT)+ | (9zT)4 guial]
000 =d
‘BES=
[Cred 2l Wiy
_Eu:
€ TTW | Z (W [ [ Jwa | ojwa] | ewoy | gwa] | ;wey | qwoy | SwRl | pWwRl | fWA | zw] | (W

uiBypin] 10) suone[a.ii0d oyl s, ueurieads : g ajqe L
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9%

Iteml1_1 | »{226) | r{226) | »{226) | r{226) | r{(226) | r{226) | r{226) | r{(226) | r.(226) | r.(226)
=333; | =415; | =281; | =477; | =377; | =453; | =403; | =.367; | =251; | =226;
Iteml1 2 | 74226) | »(226) | r{226) | r(226) | r{(226) | r(226) | r{226) | »(226) | r(226) | r(226) | ~r.{(226)
=336; | =300; | =401; | =323; | =265; | =321; | =278; | =248; | =468; | =397, | =.370;
Iteml1_3 | r{226) | r{226) | r{226) | r(226) | r{226) | »{(226) | r(226) | r{(226) | r.(226) r.(226) r,(226) r{226)
=266; | =.195; | =426; | =311; | =280; | =429; | =256; | =.140; | =469; | =411; | =218; =488;
p=.000 | p=.003 | p=.000 | p=.000 | p=.000 | p=.000 | p=.000 | p=.035| p=.000| p=.000 | p=.001 p=.000

Yellow = Correlation is significant at the 0.01 level (2-tailed)
Green = Correlation is significant at the 0.05 level (2-tailed)
Blue = Correlation has not reached significance




Appendix H

Appendix H includes detailed item-by-item analysis of the significant results from the
Kruskal-Wallis Test. It provides a parallel extended discursive presentation of the
accounts in Chapter 5.9.3.3: Post-game inferential statistical results.

H1: Digichaint Statistical Analysis

Appendix H1 follows the structure of Chapter 5.9.3.3.2 (Digichaint statistical
analysis). The precise values referred to below can be seen in Table 5.9 of that
chapter.

Influence of Gender

The question of gender has significance for only one post-game item (Item 1), i.e.
girls had a significantly higher opinion of the quality of the graphics in Digichaint
(H(1)=6.120, p=0.013*) than did boys (mean rank: girls = 131.96; boys: 108.21).

Influence of Between-School Differences

‘School type’ is the background factor which has the most statistically significant
relationships with post-game items. It was not, however, related to 8 of the 19
post-game items - namely respondents opinions on Item 2 - the technical
ease/difficulty of the game; Item 6 - clarity of the plot; Item 9 degree of focus on
plot; Item 12 - intelligibility of synthesised voice; Item 15 - atmosphere created
by synthetic voices; Item 16 - the suitability of the synthesised voice for
Digichaint; Item 17_2 - adequacy of the synthesised voice for Digichaint or Item
17_3 - the attractiveness of the synthesised voices.

The Kruskal-Wallis test shows that there is a significant Between-School Type
difference in relation to each of the Items 1, 3, 4,5, 7,8, 10,11, 13, 14and 17_1
(the precise values can be seen in Table 5.9). In order to identify the nature of
these differences more fully, further Kruskal-Wallis post hoc tests were carried
out for each statistically significant relationship. The results of these post hoc
tests are outlined below and given in full in Appendix F1.

It is interesting to note that for 7 of the 11 items which showed significant
between-school differences, pupils in Gaeltacht schools and the Gaelscoileanna
form a coherent group showing no significant differences between themselves
but each being significantly different from their counterparts in English-medium
schools.
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Item 1: Rate the graphics used in this game on a scale of 1 — 5.
English-medium schools showed a higher opinion of the quality of the graphics
(mean rank: 143.83) than did pupils from the other school types (mean rank:
Gaeltacht schools = 103.57; Gaelscoileanna = 99.02).

Item 3: I learned some new phrases/words/grammar points as I played the game.
English-medium schools were also more likely to have learned some new
phrases/words/grammar points as they played the game (mean ranks: English
schools: 144.66; Gaeltacht schools: 105.59; Gaelscoileanna: 87.44).

Item 4: The dictionary is helpful as an aid to learning Irish in this game.

Of the three school types, Gaeltacht school respondents showed a statistically
significant difference from English-medium school respondents with regard to
their opinion on usefulness of the dictionary as an aid to learning Irish in
Digichaint (H(1)=26.824, p=0.000*). While there was some difference between
the Gaeltacht schools and the Gaelscoileanna on this item (H(1)=1.184, p=0.276)
and between Gaelscoileanna and English-medium schools (H(1)=3.348,
p=0.067), the difference was not statistically significant. Mean rankings for Item
4 show English schools most favourably disposed towards the usefulness of the
dictionary function as an aid to learning Irish (mean rank 143.96) followed by
Gaelscoileanna (mean rank: 116.72) and then Gaeltacht schools (mean rank:
98.22). This is most probably because those from Gaelscoileanna and Gaeltacht
schools had no need for the facility.

Item 5: Rate your overall enjoyment of this particular game as a language
learning experience.

Item 5 shows a significant difference in the relationship between each of the
school types in respect of their enjoyment of Digichaint as a language learning
experience (Gaeltacht schools differed significantly from Gaelscoileanna
(H(1)=12.337, p=0.000*) and from English-medium schools (H(1)=9.492,
p=0.002%*) and Gaelscoileanna also differed significantly from English-medium
schools (H(1)=23.158, p=0.000*). The most favourable rating for ‘enjoyment of
the game’ came from English-medium schools (mean rank: 141.95) and there
was a significantly lower rating by Gaeltacht pupils (mean rank: 115.52). The
opinion of Gaelscoil pupils was significantly lower than that of either of the other
two groups (mean rank: 68.36).

Item 7: Was the plot credible for this type of game?

The Kruskal-Wallis test shows statistically significant differences between each
of the three school types in relation to respondents’ opinions on the credibility of
the plot of the game (Gaeltacht x Gaelscoileanna differences: H(1)=5.782,
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p=0.016*; Gaeltacht x English school differences: H(1)=7.212, p=0.007*; Gaelscoil
x English school differences: H(1)=19.079, p=0.000*). English-medium schools
show highest regard for the credibility of the plot (mean rank: 140.33), followed
by Gaeltacht pupils (mean rank: 115.55), with Gaelscoil pupils believing least in
its credibility (mean rank: 77.26).

Item 8: The game held my attention.

On Item 8 again there was a significant difference between each of the three
school types (Gaeltacht x Gaelscoileanna differences: H(1)=10.337, p=0.001%;
Gaeltacht x English school differences: H(1)=5.057, p=0.025%*; Gaelscoil x English
school differences: H(1)=15.674, p=0.000*). The English-medium schools had the
highest scores (mean rank: 138.15), followed by the Gaeltacht schools (mean
rank: 119.30), who in turn had a significantly higher score than pupils in
Gaelscoileanna (mean rank: 76.48).

Item 10: There is a good balance between enjoyment and language learning in
this game.

The Kruskal-Wallis test shows a significant difference between English-medium
school and Gaeltacht schools with regard to Item 10 (H(1)=4.589, p=0.032%*).
English-medium schools scored highest on their opinions on the balance
between enjoyment and language learning in Digichaint (mean ranks: English-
medium school: 134.46; Gaeltacht school: 116.53; Gaelscoil: 106.52). The
difference between Gaeltacht schools and Gaelscoileanna was not statistically
significant (H(1)=0.628, p=0.428).

Item 11: The overall standard of the Irish used in this game is at about the right
level for me.

Item 11 asked respondents to rate the degree to which they agreed with the
statement that ‘the overall standard of the Irish used in the game was at about
the right level for me’. The results from the Kruskal-Wallis test show a significant
difference between Gaelscoileanna and the other two school types (Gaelscoil x
Gaeltacht: H(1)=4.299, p=0.038*; Gaelscoil x English-medium school:
H(1)=7.350, p=0.007*), with Gaelscoileanna having a significantly greater degree
of agreement with the statement (mean ranks: Gaelscoileanna = 158.02;
Gaeltacht schools = 123.62; English-medium schools = 120.82). The test results
show no significant difference between Gaeltacht and English-medium schools
(H(1)=0.072, p=0.788). The question asked for the degree to which pupils agreed
with the statement provided. Item 11a sought to take this a step further and
enquire into the reason why pupils reported that the language level was
unsuitable. It asked pupils to indicate whether they found the level of Irish ‘too
difficult’ or ‘too easy’. Results from the analysis of the data produced from Item
11a indicates there is a very big difference between Gaeltacht schools and
English-medium schools since the majority of Gaeltacht school responses (74%)
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found the standard of Irish ‘too easy’ for them while the opposite held for
English-medium schools, where 69% found the standard of Irish ‘too difficult’.
This shows an important distinction between the comprehension levels of
Gaeltacht pupils and pupils in English-medium schools. A statistically significant
difference appears between Gaelscoileanna and Gaeltacht schools with
respondents from Gaeltacht schools more likely to think the standard of Irish
was too low for them. The difference between Gaelscoileanna and English-
medium schools was also significant with the English-medium schools having a
significantly greater chance of reporting that the language difficulty was too high
for them.

Item 13: Did you experience particular difficulties with the dialects that are used
in Digichaint?

Gaeltacht schools reported significantly less difficulty in understanding the two
different dialects than the English-medium schools (H(1)=5.385, p=0.020*). The
difference between Gaelscoileanna and Gaeltacht schools was not statistically
significant (H(1)=0.032, p=0.858). The Kruskal-Wallis test shows a mean rank of
137.81 for Gaeltacht schools: 136.04 for Gaelscoileanna and 115.99 for English-
medium schools.

Item 14: I found it no more difficult to understand the computer-generated voice
than I would if natural voices were used.

English-medium schools agreed most strongly that they found it no more
difficult to understand the computer-generated voice than they would if natural
voices were used in Digichaint. The Kruskal-Wallis test shows a mean rank of
135.13 for English schools, 116.19 for Gaeltacht schools and 103.96 for
Gaelscoileanna. There was no statistically significant difference between
Gaeltacht schools and Gaelscoileanna on this item (H(1)=0.809, p=0.368)
whereas the difference between English-medium schools and Gaeltacht schools
(H(1)=4.209, p=0.040*) and Gaelscoileanna (H(1)=4.001, p=0.045*) both
reached statistical significance. This is in line with the Kang et al. (2008)
observation that learners are not as sensitive to differences in naturalness
between natural voices and synthetic voices as native speakers are. Those from
English-medium schools approximate more closely to the “learners” in that they
have less exposure to Irish.

Item 17_1: Give your opinion on the usefulness of the concept of producing an
interactive language learning game in order to practice Irish.

Item 17_1 enquired into respondents’ opinions on the usefulness of the concept
of producing an interactive language learning game in order to practice Irish.
There was no significant difference between the respondents from Gaeltacht
schools and those from Gaelscoileanna (H(1)=0.773, p=0.379) and both differed
significantly from the responses of the English-medium cohort (English x
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Gaeltacht schools: H(1)=5.157, p=0.023* and English x Gaelscoileanna:
H(1)=5.187, p=0.023*). Significantly more of the English-medium school cohort
were favourably disposed towards the usefulness of the concept of this type of
game for language learning for Irish (mean ranks: English-medium schools =
135.74; Gaeltacht schools = 115.49; Gaelscoileanna = 102.96).

Influence of Frequency of Playing Computer Games

Frequency of playing computer games was significantly related to only 5 of the
19 post-game items. These are Items 4, 5, 8, 10 and 12 (see Table 5.9). See
Appendix F1 for the exact breakdown of the results of the Kruskal-Wallis post
hoc tests.

Item 4: The dictionary is helpful as an aid to learning Irish in this game.

Post hoc analysis of Item 4 shows that only one correlation of a possible six
reaches statistical significance. While there was a statistically significant
difference between those who ‘seldom’ played computer games and those who
played ‘weekly’, in relation to their opinions on the usefulness of a dictionary as
an aid to learning Irish in the game (H(1)=7.912, p=0.005%), it would be unsafe to
draw any conclusions from this difference as the numbers who play computer
games weekly (20%) or daily (7%) are relatively low. The majority of
respondents reported played games infrequently.

Item 5: Rate your overall enjoyment of this particular game as a language
learning experience.

Item 5 shows a significant statistical relationship between the frequency with
which one plays computer games and the ratings pupils give their overall
enjoyment of Digichaint. The group with the highest ratings were those who
‘seldom’ played games and those with the lowest ratings for overall enjoyment
were those who ‘never’ played games (mean ranks: ‘seldom play’: 136.25; ‘play
daily’: 120.00; ‘play weekly’: 115.22; ‘never play’: 108.83).

Item 8: The game held my attention.

Those who reported most positively to the statement “the game held my
attention” were those who played on a ‘daily’ basis and those who ‘seldom’
played games. These two groups showed no statistically significant difference
between each other but both were significantly ahead of those who reported
‘never’ playing games or playing on a ‘weekly’ basis. The game was least likely to
hold the attention of those who ‘never’ played (mean ranks: ‘play daily”: 148.58;
‘seldom play’: 137.44; ‘play weekly’: 107.21; ‘never play’: 103.27).
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Item 10: There is a good balance between enjoyment and language learning in
this game.

In relation to Item 10, those least likely to agree with the statement that “there is a
good balance between enjoyment and language learning potential in the game” were
those who ‘never’ played games. Those who played games on an occasional basis
were most positive in relation to this balance (mean ranks: ‘seldom play’: 136.33;
‘play daily’: 118.00; ‘play weekly’: 116.92; ‘never play’: 107.60).

Item 12: The synthesised voices were sufficiently clear to make the speech
intelligible.

The clarity reported on the synthetic voices was also related to respondents’ general
game playing patterns. Those who ‘never’ played computer games gave the lowest
ranking to the clarity of the synthetic voice while those who ‘seldom’ played gave it
the highest (mean ranks: ‘seldom play’: 139.04; ‘play daily’: 114.53; ‘play weekly’:
110.48; “never play’: 108.10). There was a significant statistical difference between
those two groups (H(1)=7.532, p=0.006*). Those who ‘seldom’ played were also
statistically more positive towards the clarity of the synthetic voice than those who
played ‘weekly’ (H(1)=6.763, p=0.009%).

Influence of Level of Understanding of Irish

In the discussion below respondents are divided into groups according to their
rankings in the Likert scale. Group 1 refers to those who reported understanding ‘a
few words of Irish spoken slowly” and Group 5 being at the opposite end of the scale
referring to those who understand ‘almost all conversations at natural conversation
speed’. Groups 2, 3 and 4 represent the in between rankings. For detailed results of
the Kruskal-Wallis post hoc tests see Appendix F1.

Item 1: Rate the graphics used in this game on a scale of 1 — 5.

Groups 1 and 2 consisted of only 2 and 3 respondents respectively and so for the
purposes of statistical analysis they are being ignored because of such small numbers.
Of the remainder, the highest ranking was given to the graphics by those rate
themselves at the mid-ranking of the Likert scale — those who understand ‘parts of
conversations’ in Irish (Group 3). They gave a significantly higher rating to the
graphics than those who reported the ability to understand ‘almost all conversations at
natural conversation speed’ (Group 5), while the relationship between Group 3 and
Group 4 (understand ‘most conversations when spoken clearly’), though less
pronounced, is also statistically significant. There appears to be an inverse
relationship between one’s level of Irish language comprehension and the rating one
gave to the graphics. Those with highest reported language comprehension level gave
the lowest ranking to the quality of the graphics (mean rankings: Group 3: 156.21;
Group 4: 130.32; Group 5: 108.38). One is speculating from this that those who have
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the highest existing language ability show least value for this type of language
teaching game because it is somewhat irrelevant to them.

Item 3: I learned some new phrases/words/grammar points as I played the game.
Item 3 enquired into the extent to which pupils ‘learned some new
phrases/words/grammar points’ as they played the game. Respondents who saw
themselves in Group 4 (understand ‘most conversations when spoken clearly’) had the
highest ranking in agreeing with this statement. These were closely followed by
Group 3, while Group 5 gave significantly lower level of agreement with the
proposition. This is in keeping with the fact that most of those in Group 5 had
language capabilities beyond the language range presented in Digichaint and
therefore had little new to learn (mean rankings: Group 4: 137.50; Group 3: 136.49;
Group 5: 107.44).

Item 4: The dictionary is helpful as an aid to learning Irish in this game.

A similar pattern to that of Item 3 arises in Item 4, which deals with the helpfulness of
the dictionary function as part of Digichaint. Groups 3 and 4 had mean rankings
significantly higher than those of Group 5. One may similarly conjecture that since
Group 5 had a higher level of language understanding they had less use for a
dictionary (mean rankings: Group 3: 145.01; Group 4: 132.52; Group 5: 108.12).

Item 5: Rate your overall enjoyment of this particular game as a language
learning experience.

Again, we see a similar pattern in the results for Item 5, which related to the pupils’
overall enjoyment of Digichaint where the mean ranking of Group 3 was significantly
higher than the mean ranking of Group 5. Group 4 occupied a midpoint between them
and its mean rank score was not significantly different from either Group 3 or Group
5. Respondents’ overall enjoyment of the game would appear to be linked to their
degree of satisfaction with the game and the degree to which they had learned new
material (mean rankings: Group 3: 141.53; Group 4: 130.81; Group 5: 113.97).

Item 10: There is a good balance between enjoyment and language learning in
this game.

While the Kruskal-Wallis test shows a between-group difference for Item 10, when
Groups 1 and 2 are excluded, there is no longer a statistically significant difference
between Groups 3, 4 and 5. The general pattern found in the previous four items still
holds with Groups 3 and 4 showing a higher mean ranking than Group 5. In this case,
however, the rankings fall just short of statistical significance (mean rankings: Group
3:132.32; Group 4: 131.23; Group 5: 118.53).

Item 13: Did you experience particular difficulties with the dialects that are used

in Digichaint?

Item 13 referred to difficulties respondents may have with the dialects that are used in

Digichaint. Group 5 experienced least problems and their mean rank score for ‘lack of

469



difficulty’ was significantly higher than those of Groups 3 and 4. The mean rankings
for Group 4 were between those of Groups 3 and S but did not fall within the range of
statistical significance from Group 3 (mean rankings: Group 5: 141.41; Group 4:
120.18; Group 3: 110.37).

Influence of Attitude towards Synthetic Voices

For the purposes of describing the statistical analysis for this factor, respondents are
divided into five groups according to their responses on the Likert scale. Group |
represents those who responded “I hate synthesised voices” while Group 5 is
composed of those who responded that synthetic voices are “sometimes more suitable
than human voices” in the context of computer games. Group 2 represents
respondents who chose “tolerate synthesised voices but prefer human voices”; Group
3 chose “neutral” and Group 4 reported they found synthetic voices “sometimes
suitable”. This may be seen as categorical data as it may be argued that the progress
from 1 to 5 does not represent rank ordered categories or intensity of emotion in
respect of synthetic voices generally.

The between-group differences according to the Kruskal-Wallis test were significant
for Items 5,9, 10, 12, 15, 17 1 and 17 2 (see Table 5.9) and not significant for the
remaining items. See Appendix F1 for the results of the Kruskal-Wallis post hoc tests.

Item 5: Rate your overall enjoyment of this particular game as a language
learning experience.

Item 5 has mean rank rankings which increase in line with one’s tolerance towards
synthetic voices generally (mean rankings: Group 5: 169.40; Group 4: 146.49; Group
3: 122.16; Group 2: 118.14; Group 1: 58.92). Those who gave the lowest mean
ranking for enjoyment of the game were those in Group 1, who ‘hated’ synthetic
voices. There was a highly significant difference between the rankings of Group 1 and
those of Groups 2, 3 and 4. Similarly, the mean rankings of Group 2 are significantly
lower than those of Groups 3 and 4. (The Kruskal-Wallis test does not show a
statistically significant difference between Groups 1 and 5 but one can put this down
to the peculiarities of the test as it relates to two low population groups being
examined alongside relatively high population groups. Inspection of the mean
rankings of Groups 1 and 5 taken as part of the overall between-group differences
analysis is most dramatic).

Item 9: I was more focused on the plot of the game than I was on the language
being used.

While there were significant differences between Groups 2 and 3 and Groups 3 and 4
on Item 9, it is difficult to identify any clear pattern in the results. Group 3 had mean
rankings significantly below those of Groups 2 and 4 (mean rankings: Group 4:
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146.75; Group 2: 139.50; Group 3: 116.30; Group 5: 103.60; Group 1: 84.92). Group
4 had the top ranking which again suggests that those more positive towards the use
of synthetic speech in games tended to engage with the game and focus on the plot
rather than see it just as a language learning exercise.

There are a number of significant inter-relating factors which come to bear on this
item which can only be examined by multivariate analysis (such as multiple
regression) of a type not available in non-parametric statistics, i.e. the categories in
the scale (Groups 1 — 5) may have complex inter-relationships with other background
factors. Multivariate analysis of the type which would explore these
interdependencies are available only for parametric data (Pallant, 2010).

Item 10: There is a good balance between enjoyment and language learning in
this game.

Item 10 shows the mean ranking for the five groups to be in ascending order with
Group 1 at the bottom and Group 5 at the top (mean rankings: Group 5: 151.50;
Group 4: 141.52; Group 3: 126.78; Group 2: 106.91; Group 1: 90.50). Statistically
there is a significant difference between Groups 2 and 4 (H(1) = 6.897, p=0.009%*).
This follows the pattern already found for Item 5.

Item 12: The synthesised voices were sufficiently clear to make the speech
intelligible.

The most dramatic results for any item analysed are those of Item 12. The mean rank
scores were in ascending order in line with respondents’ attitude to synthetic speech
generally (mean ranks: Group 5: 181.10; Group 4: 145.04; Group 3: 122.19; Group 2:
117.44; Group 1: 65.50). Group 1, who ‘hated’ synthetic voices, gave a very low
ranking for the speech intelligibility. Their rankings were significantly lower than
those of each of the other groups. Group 2 had the next highest mean rank scores but
these were significantly lower than the scores of Groups 4 and 5. This result
represents strong evidence that one’s judgment of particular instances of synthetic
speech is highly related to one’s preconceived notions of synthetic speech gained
from whatever experiences one has had in the past.

Item 15: In general, I think that computer-generated voices give a better
atmosphere to computer games than natural voices do.

Item 15 deals with the proposition that “computer-generated voices give a better
atmosphere to computer games than natural voices do”. It was decided that this item
would be included in the post-game evaluation even if it is closely related to the
background factor item on the pre-game questionnaire. The possibility here was that
some respondents may have little familiarity with synthetic voices and that the
experience of the game may have changed their attitude somewhat. While the pattern
of the results is less clear than that of Item 12, nevertheless it is clear that those who
had a positive disposition towards synthetic voices before playing Digichaint were
still most favourable towards the concept that synthetic voices give a better
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atmosphere to computer games than natural voices do. The mean rank scores of those
in Group 5 were significantly higher than those of Groups 4, 3 and 2 (mean ranks:
Group 5: 190.00; Group 4: 147.18; Group 2: 118.36; Group 3: 118.10; Group 1:
127.67). Group 1 showed a less negative disposition for Item 15 than was the case in
the pre-game responses. Since numbers are small for this group, it would be unsafe to
make any dramatic claims based on this data.

Item 17_1: Give your opinion on the usefulness of the concept of producing an
interactive language learning game in order to practice Irish.

The mean rankings for each group were in ascending order for this item from Group 1
to Group 5 (mean ranks: Group 5: 158.80; Group 4: 147.91; Group 3: 123.24; Group
2: 115.61; Group 1: 50.33). Those who were least favourably predisposed to synthetic
voices were least favourable towards the concept of interactive language learning
games, while those who were most favourably disposed to synthetic speech in general
were also most favourably disposed towards interactive language learning games.
Group 1 ranking was statistically significantly lower than the rankings of all other
groups while the rankings of Groups 2 and 3 were significantly lower than the
rankings of Group 4.

Item 17_2: Give your opinion on the quality of the synthesised voices: to what
extent do you think the voices are adequate for the type of game presented here?
Item 17_2 asks for the opinion on the “quality” of the particular synthetic voices used
in Digichaint and their “adequacy” for the game. The same pattern as that found in
previous items emerged here with the mean rank scores being in ascending order with
Group 1 at the bottom and Group 5 at the top (mean ranks: Group 5: 176.50; Group 4:
145.78; Group 3: 119.45; Group 2: 122.59; Group 1: 88.67). This again showed that
respondents’ predisposition towards synthetic speech seemed to colour their judgment
of the quality and adequacy of the synthetic speech being used in Digichaint.
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H2: Failte go TCD Statistical Analysis

Appendix H2 follows the structure of Chapter 5.9.3.3.3 (Failte go TCD statistical
analysis). The precise values referred to below can be seen in Table 5.11 of that
chapter.

Influence of Gender

Gender reached the level of statistical significance for only one item in the post-
game questionnaire. This is Item 10, which asks if respondents experienced
“difficulty with the dialects” used in the platform. Boys reported significantly less
difficulty than girls in dealing with the dialects used (H(1)=4.107, p=0.043*). The
mean ranks for this item were 140.58 for boys and 120.98 for girls.

Influence of Between-School Differences

There are significant between-school differences in six of the thirteen post-game
items. These are Items 5, 7, 8,9, 10 and 11 _3 (see Table 5.11 for full details).

Item 5: Would you enjoy using this type of activity to develop your aural Irish
skills, should be available and easily accessible in your school?

Those from English-medium schools showed a much greater enthusiasm for using
Fdilte go TCD than did those from the two other school types (mean ranks: English-
medium schools: 135.57; Gaeltacht schools: 117.98; Gaelscoileanna: 101.17). The
mean rank score for the English-medium schools were significantly higher than those
of the Gaelscoileanna (p=0.031%*). There is no significant difference between
responses from the Gaelscoil and Gaeltacht school cohort (p=0.228).

Item 7: Do you think this type of activity would make the learning of Irish more
attractive?

A similar trend held for the “attractiveness” of the platform as a means of learning
Irish, with those from English-medium schools giving a significantly higher mean
attractiveness ranking to the platform (mean ranks: English-medium schools: 135.72;
Gaeltacht schools: 120.86; Gaelscoileanna: 89.63).

Item 8: The overall standard of Irish used is at about the right level for me.
Item 8 refers to the difficulty level of the language in the platform. There is a
significant difference between the Gaelscoileanna responses and the responses from
the Gaeltacht (p=0.013*) and English-medium schools (»=0.005*). One may refer
here to the results discussed in Chapter 5.9.3.2, presented in Appendix E2, which
showed 70.2% of the total group thought that the level of Irish was appropriate, and
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those who did not think so were about equally divided as to whether it was too easy or
too difficult. It is clear from this analysis that those who thought the level of Irish was
appropriate tended to come from Gaelsc<ns1:XMLFault xmlns:ns1="http://cxf.apache.org/bindings/xformat"><ns1:faultstring xmlns:ns1="http://cxf.apache.org/bindings/xformat">java.lang.OutOfMemoryError: Java heap space</ns1:faultstring></ns1:XMLFault>